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Question Number : 1 Question Id : 1908891042 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

.Ll'it I

I_rat II

.T}'pe of monsoon Month

A. Pre-monsoon

1. January - February

B. North-East monsoon [II. March - May

C. South-West monsoon [III. June - September

D. Post-monsoon

?I\-". October - Decembefi-.

Choose the correct answer from the options given below:

1.
£

ol

Options:

A -
A
A -
A -

I

L
IV,

1908894101. 1

1908894102. 2

1908894103. 3

1908894104. 4

5
1.

B-
B-

I.C-III.D-1IV
IV.C-II.D-1I

B-II.C-III.D-1IV

B

-1, C-II.D-1

Question Number : 1 Question Id : 1908891042 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

g -IF T -1 § gARfeT AT

T -1 T -1
AT THR) (FFET)
A ATAEA 95 I S - BIE
B.3cR @ AAGA IL AT - 78
C. Zf&T0T 9f9H AFgA I 5 - fasy
D. AHHA 921 IV. ¥y - feHay
A feT v Reedt & ¥ w9 3eaw AT

. A-ILB-LC-ILD-IV

2. A-IILB-IV,C-I,D-I

A-LB-II.C-II.D-1IV
A-IV.B-ILLC-II.D-1

o W

Options:

1908894101. 1
1908894102. 2
1908894103. 3

1908894104. 4

Question Number : 2 Question Id : 1908891043 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What 1s the relationship between light intensity and photosynthesis?

1. Linear

2. Curvi-linear
3. Quadratic

4. Parallel

Options:
1908894105. 1
1908894106. 2
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1908894107/. 3

1908894108. 4

Question Number : 2 Question Id : 1908891043 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

GeRTel SI9aT UF Threl HSIN0T & HeT FAT FFa= gar § 2

1. @+
IF @+
TS

-

4. HHTeAT

|

V)

Options:

1908894105. 1
1908894106. 2
1908894107. 3

1908894108. 4

Question Number : 3 Question Id : 1908891044 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements. one 1s labelled as Assertion A and the other 15 labelled as
Reason R

Assertion A: The cell wall 1s found only in the plants whereas absent in animals,
Reason R: The cell wall 1s produced and maintained by living protoplasm,
In light of the above statements. choose the most appropriate answer from the options given

below

Both A and R are correct and R 15 the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A

A 15 correct but R 1s not correct
A 15 not correct but R 1s correct

e e bd

Options:

1908894109. 1
1908894110. 2
1908894111.3
1908894112. 4

Question Number : 3 Question Id : 1908891044 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A g FU U a0 § ; UF F HFFUA (A) #R TH FFROT (R) FT A £
HAFUA (A): F Bl S ot F g § T TG F ey e g
FIOT (R) : FIAH et T FAaged F @R 3cqied U9 q@r Bl 8

ST FUA F A B G e & ¥ W S 9

(A 3T (R) IS FE £ AT (R). (A) F TE TR B
(A) AR (R) T WET & T (R). (A) T W carea e ¢
3. (A) T € e (R) T €

4. (A)TATE Teq (R) TEr £

et

| -

Options:
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1908894109. 1
1908894110. 2
1908894111. 3

1908894112. 4

Question Number : 4 Question Id : 1908891045 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: The division of cytoplasm takes place by cell plate method 1n animals and furrow
method 1n plants.

Statement II: The cytokinesis takes place after metosis I and metosis II separately or sometimes
at the end of meiosis II only.

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I 1s correct but Statement II 15 mncorrect
Statement I 1s incorrect but Statement II 15 correct

| S I

= s

Options:

1908894113. 1
1908894114. 2
1908894115. 3

1908894116. 4

Question Number : 4 Question Id : 1908891045 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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AT FUF RT AT E

FY - 1 FIHT Ged F1 @97 FG30 & G Sore @3y § For ot & & fofor &
g 8l

FI - 11 TECFEATHY, FEGA 19 FEGHUF a5 Fe0T - Hom T1 ol Fof
I FETH 05 53 & 21 &)

TS FIAT F HAF F Aoy hedt # ¥ T 3eal I

| FU 137 n2a 78 &)
2. FYF 1AR N3 7 2
3. ®YF 1T ¢, e F9F 1797 g
4. FYF 1700 £, g Fu7 DTG R
Options:
1908894113. 1
1908894114, 2
1908894115. 3

1908894116. 4

Question Number : 5 Question Id : 1908891046 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List I with List IT

List I

List II

.:Plnitl}' levels

Description

A. Allohexaploidy

I. Four copies of the same genome.

B. Autohexaploidy

II. Six copies of the same genome.

C. Autotetraploidy

I1I. Two copies each of the three distinct genomes.

D. Allotetraploidy

IV. Two copies each of two distinct genomes.

Choose the correct answer from the options given below:

|

-l

Options:

1908894117. 1
1908894118. 2
1908894119. 3
1908894120. 4

A-1.B-IL
A-III.B-IV.C-II.D-1
A-IMI.B-II.C-L.D-1IV
A-LB-NII.C-IV.D -1

C-IV.D-1III

Question Number : 5 Question Id : 1908891046 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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(Crouoy (Ferarzom)

A. TAIEFHETCASST 1. TATH HAAH $I I Fiaar

B. HCIgFHCAEST L §AH JAH # o gfqar

C. HRREeEd L AF T AAH F TAF Hr ar qfaa
D. TS ([V.a@ ST S F geaw # @ gt

A for av fIFedt # ¥ W 3eaw giAv

A-LB-II.C-IV.D-III
A-IIILLB-IV.C-II,D -1
A-IIILB-II.C-L.D-IV
A-ILB-III.C-IV.D-1I

e Lo b

Options:

1908894117. 1
1908894118. 2
1908894119. 3

1908894120. 4

Question Number : 6 Question Id : 1908891047 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Read the following statements and choose the correct statements:
A. Spontancous mutations occur 1n nature.

B. Forward mutations occur from mutant allele to wild type.

C. Reverse mutations occur from the wild type to mutant allele.
D. Somatic mutations occur in somatic tissues or cells.

Choose the correct answer from the options given below:

1. AandB only
2. AandD only
3. Band C only
4. CandD only

Options:

1908894121. 1
1908894122. 2
1908894123. 3

1908894124. 4

Question Number : 6 Question Id : 1908891047 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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farafaf@a st 1 ofer 3R @gr F2=t Fr oifer

A. FEFRA SeIREA T A g g

B. 37T 3c9Nda 3c9iadl Heilel § a4 THT HI AT &1 £
C. 997 3cIRaad a4 TUT ¥ 3c9iadr Halrel T AT gar gl
D. FTTAF FcINTAA FIAF FaAel IT FHIRT H ZT 2

A T v Osedr # ® "Er 3ca} 94 ¢

1. gef AT B
. %ad AR D
3. a9 BAR C
4. g8 CHRT D

[ B

Options:

1908894121. 1
1908894122. 2
1908894123. 3

1908894124. 4

Question Number : 7 Question Id : 1908891048 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements. one 1s labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A: Mendel selected garden pea for his investigations on heritance.

Reason R: Garden pea 1s a hermaphrodite, self-fertilized and long duration crop which helped
Mendel in mamtaining the purity of genetic material,

In light of the above statements, choose the most appropriate answer from the options given
below

. Both A and R are correct and R s the correct explanation of A

. Both A and R are correct but R 1s NOT the correct explanation of A
3. As correct but R 15 not correct

4. A s not correct but R 1s correct

| o I =

Options:

1908894125. 1
1908894126. 2
1908894127. 3

1908894128. 4

Question Number : 7 Question Id : 1908891048 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A 2T FuF oT AT § ;v F AEFAT (A) HR THY F FROT(R) FET A
HIFFYT (A) : AVSS F H9 HEAF Tt F [T 7T F LAY

FOT(R) : BT UF IHIoHIT, FIUURS U9 FFd §RT HI GOA § 999 AvsaT
HIaTF TeT F¥ Y& F THR Wl # Aeg (Al

3T FUAT F HAF H fwaied fFwedt & ¥ w9 3o o

[—

(A HT (R) AT TR £ HT (R). (A) FT TE T B

- (A) AT (R) T FET € T (R). (A) T FET a7 g
. (A) T € =g (R) T &

4. (A)TITTE Teq (R) Tem

[ -

LW

Options:

1908894125. 1
1908894126. 2
1908894127. 3

1908894128. 4

Question Number : 8 Question Id : 1908891049 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one 15 labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A: Glycoproteins have unusual properties due to polar groups.
Reason R: Gonadotropic hormone 1s an example of glycoprotein.
In light of the above statements, choose the most appropriate answer from the options given

below

Both A and R are correct and R 1s the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A 1s correct but R 15 not correct

A is not correct but R 1s correct

|

acio
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Options:

1908894129. 1
1908894130. 2
1908894131. 3

1908894132. 4

Question Number : 8 Question Id : 1908891049 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A 3 FYF BT A0 0F F AWFYT (A) 3T W FT FROT (R) FT AT L
HHFYA (A) : TOEHNEAT B FAAT 07 YT FHE F FWOT el

RO (R) : TASTIF AT BRI F TF T £

SFT FUA F A & Pt Reedt & ¥ w8 3o 9

1. (A) 3R (R)3T T & AT (R). (A) Fr TE e g

2. (A)#R (R) 3 T § T (R). (A) F¥ TEr caE A ¢
3. (A) TS € Wq (R) oA £

4. (A)TITE T (R) FE €

Options:

1908894129. 1
1908894130. 2
1908894131.3
1908894132. 4

Question Number : 9 Question Id : 1908891050 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Which class of following lipids 1s apparently lacking in plants?

Acyl glycerol
Waxes

Phospholipids
Sphingolipids

|

o o

Options:

1908894133. 1
1908894134. 2
1908894135. 3
1908894136. 4

Question Number : 9 Question Id : 1908891050 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TR o R T ama WA AT Far 8 2

1. THES Foaiey
"AH
3. BIFRITNsH

-

P T ICES]

|

-

Options:

1908894133. 1
1908894134. 2
1908894135. 3

1908894136. 4

Question Number : 10 Question Id : 1908891051 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Read the following statements and choose the correct statements:

A. Thiamine (Vit By) functions as a coenzyme for pyruvate metabolism.

B. Riboflavin (Vit By) functions as a prosthetic group of tlavoprotein enzyme.
C. Sterol (Vit D) functions as a coenzyme 1n pyruvic oxidation.

D. Pyrdoxine (Vit Bg) functions as a coenzyme for amino acid conversion.
Choose the correct answer from the options given below:

1. A.CandD only
2. B.CandD only
3. A.BandD only
4. A.BandC only

Options:

1908894137. 1
1908894138. 2
1908894139. 3

1908894140. 4

Question Number : 10 Question Id : 1908891051 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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fFatoEe I F 9feT AT W FUAT F TIET
A, IR (¥, B)) TR FI9IT & UF FITARH $7 g F1T FaT £

B, TEaFalfed (f3er. B, ) Foamied USBH & UF SI9dfed §Hg & 9 & F1¥ F{al
gl

C. T (f9er. D) Elifes A+ # UF FT=8H I TE FH FT ¢

D. EiEfEaa (5. Bs ) 3f@at 3a % iEaa § 0F F=aEA i TE@ F9 F
gl

A for v fwedt & @ W 3o T

. ¥ A.CHR D
. %9 B.CHR D
. 9 ABHRD
4, FId A BHR C

[

LaF W]

Options:

1908894137. 1
1908894138. 2
1908894139. 3

1908894140. 4

Question Number : 11 Question Id : 1908891052 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following statement 1s not a characteristic m prokaryotic cells?

Uncovered DNA.

DNA is associated with histones.

They lack membrane-enclosed organelles.
Divide by binary fission.

J Lo b

Options:
1908894141. 1
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1908894142. 2
1908894143. 3

1908894144. 4

Question Number : 11 Question Id : 1908891052 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A9 ¥ ¥ S99 5 ¥Fl=gg Fifdwr Fr Fowar a8 ¢ 2

1. ¥ATaIT DNA

DNA fgreis o g==fua &I

. m%ﬁﬁﬂﬁgm'ﬁﬁmma
4. ghafegvsa ¥ @Err Fanfaa i €

| (o

LY

Options:

1908894141. 1
1908894142. 2
1908894143. 3
1908894144. 4

Question Number : 12 Question Id : 1908891053 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

»
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Given below are two statements

Statement I: Fungi is a heterotrophic and sterols are present i their cell membrane.

Statement II: Bacteria cell wall contains peptidoglycan and sterols are absent i their cell
membrane, except in mycoplasma,

In light of the above statements. choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I 1s correct but Statement II 1S incorrect
Statement I 1s incorrect but Statement II 1s correct

[ —

el i

Options:

1908894145. 1
1908894146. 2
1908894147. 3

1908894148. 4

Question Number : 12 Question Id : 1908891053 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AT T FUF RT AT E
FUF - |: F9% U [GUAUNT § TUT S0 FIAT Brooll § TUeH ad &

FUF - 11 ey Fifw e & SReswagsa T § 79 390 Ffw Fea
# FEHCATCAT F HATET FAeH F9edd TEd £l

3R FUA F o # fArAared fawed & ¥ Wel 3eol I

FUF 13X 13 w8

- FYF 13X 03t 7o €

- FYA 1A E. g F9F 179 gl
4. FYF 1770 €. g FUF T HE £

—

2

LaJ

Options:
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1908894145. 1
1908894146. 2
1908894147. 3

1908894148. 4

Question Number : 13 Question Id : 1908891054 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one 1s labelled as Assertion A and the other 1s labelled as

Reason R
Assertion A: Most protozoa are free- living, 1 fresh water or marine environments.

Reason R: Moisture 1s absolutely required for protozoa.

In light of the above statements, choose the most appropriate answer from the options given
below

Both A and R are correct and R is the correct explanation of A
Both A and R are correct but R 15 NOT the correct explanation of A
A 15 correct but R 15 not correct

A 1s not correct but R 15 correct

= Lo I

Options:

1908894149. 1
1908894150. 2
1908894151. 3

1908894152. 4

Question Number : 13 Question Id : 1908891054 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A 3 4 feT AT §  UF F FEFR (A) HR W F FROTR) FT A £
HHFYA (A) : HOFAR TEAN AT Tl T THAY IR H T el g &
FIOT (R) : IS F forw 7 ag7 T gl &

IIFT FUA F HAE B A GFen & ¥ W 3o I

- (A) AT (R) T T E AT (R). (A) FT TR <A B

- (&) AR (R) 2 T & T (R). (A) FT FET cAEA A
. (A) T § T=q (R) 7o ¢

4 (A)TTE =g (R) eI £

e

b

LA

Options:

1908894149. 1
1908894150. 2
1908894151. 3

1908894152. 4

Question Number : 14 Question Id : 1908891055 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

How many well defined breeds of buffalo are there in India?

12
14
17
20

i b

B

Options:

1908894153. 1
1908894154. 2
1908894155. 3

1908894156. 4
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Question Number : 14 Question Id : 1908891055 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AT A ST B qur aieia awer Faer € 2

1. 12
2. 14
3. X7
4. 20
Options:

1908894153. 1
1908894154.
1908894155.

B w N

1908894156.

Question Number : 15 Question Id : 1908891056 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements
Statement I: Swamp buffaloes have 48 chromosomes,
Statement II: Manipuri buffaloes are true swamp buffaloes.

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I 1s correct but Statement II 1s incorrect
Statement I 1s incorrect but Statement II 15 correct

= o D

Options:
1908894157. 1
1908894158. 2

1908894159. 3
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1908894160. 4

Question Number : 15 Question Id : 1908891056 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A g Fua G aw 7
FUA - 1: Joicell FH # 48 UTHA g £
FUS - I1: RO FY IEafSF gargelr 3 g

ITYFS FUAT F HAF # FAFAo@d Geedl # § Tl 3ca] A

1. FUF 13T 13T TEr g
FUF 1 AT A" 99 £
. FUF 1HL1 8. e Fua 1719 €
4. FUS 17904 §. g Fu7 D HET €

[ )

W]

Options:

1908894157. 1
1908894158. 2
1908894159. 3
1908894160. 4

Question Number : 16 Question Id : 1908891057 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List I with List II

List I List IT
Cattle Breed (Place
A. Bachaur I. Kerala

B. Punganur

II. Andhra Pradesh

C. Umblachery

ITI. Bihar

D. Vechure

| IV. Tamil Nadu

Choose the correct answer from the options given below:

1. A-LB-IILC-ML.D-1IV
2. A-III.B-IV.C-1L.D-1I

<

Options:

1908894161. 1
1908894162. 2
1908894163. 3

1908894164. 4

A-IIILB-II.C-IV.D-1
4 A-IV.B-LC-II.D-II

Question Number : 16 Question Id : 1908891057 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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= -IFEET -1 ¥ gATOT ST

T - T I
@ 1 FE) (FUT)
A TR I FTA
B. TAMeX I 3T
C. JFTATE 1. fagr
D. 3 IV. AR
A foT v R{eest & ¥ §E 3e) gAvT

. A-LB-ILC-IILD-IV

2. A-ILB-IV.C-LD-II

3. A-IILB-ILC-IV.D-I

4. A-IV.B-LC-ILD-II
Options:

1908894161. 1
1908894162. 2
1908894163. 3

1908894164. 4

Question Number : 17 Question Id : 1908891058 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements. one 1s labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A: India 1s world's largest producer of milk.
Reason R: Indian cattle species have greater resistance to tropical diseases.
In light of the above statements. choose the most appropriate answer from the options given

below

Both A and R are correct and R 15 the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A 1s correct but R 15 not correct

A 15 not correct but R 1s correct

= o b ==

Options:

1908894165. 1
1908894166. 2
1908894167. 3

1908894168. 4

Question Number : 17 Question Id : 1908891058 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A & FUF U 0§ ; 0F F AR (4) IR W F FROT(R) FT T £
HIWFYF (A): 97T (329 F1 Fa¥ T37 Y 3798 & £

FIOT(R) : ATAT MM 99 FA(GAr 3507 AN F Fia 370F Wor gfendt g
€l

ST Fot 5 ST & R e & ¥ W I

- (A #R (R) AT FE E AR (R). (A) FT TeT A £

- (A)HR (R) S TE & T (R). (A) T TET curEA T
3. (A)WEr & Rq (R) Wel 7T ¢

4. (A) T 7 § TWeq (R) T 2

—
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Options:

1908894165. 1
1908894166. 2
1908894167. 3

1908894168. 4

Question Number : 18 Question Id : 1908891059 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

How much quantity of fresh warm whole milk must be fed to calves from 4 day onwards?

1/5™ of its body weight

1/10% of its body weight
1/15% of its body weight
1/20% of its body weight

= o D

Options:

1908894169. 1
1908894170. 2
1908894171. 3

1908894172. 4

Question Number : 18 Question Id : 1908891059 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T3 A TR & Y o F A T wF g Fr e A & s afge o

1. R ¥R F7 1537 FE
IR ¥R F V1o fgear
3, 9T 9 & 115 a fFE
4. T A FT 12077 fEEw

|

Options:

1908894169. 1
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1908894170. 2
1908894171. 3

1908894172. 4

Question Number : 19 Question Id : 1908891060 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

‘ 2 '
Statement I: Bulls require 12 m” covered area per animal,

' 7 '
Statement II: Bulls require 120 m” open area per animal,

In light of the above statements. choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are mcorrect
Statement I 15 correct but Statement II 1s incorrect
Statement I 15 incorrect but Statement II 15 correct

4= o b

Options:

1908894173. 1
1908894174. 2
1908894175. 3

1908894176. 4

Question Number : 19 Question Id : 1908891060 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A 3wy Rraw €

FUF - [ TE 12 FTHE T T H=oMed T H AT 2T £
FYF - 11 TS T 120 AT I T T FAH F HGTHA 2t 2
39T FYAT F HAF A fAfaed Feat # ¥ T 3eal I

| FYF 137 I T 2
FYF 1A 1=t 7o £
3. FUA 1HE 8. e F4a 170 £

4. FIF 177004 ¢. e FUT DT €

| )
-

Options:

1908894173. 1
1908894174. 2
1908894175. 3
1908894176. 4

Question Number : 20 Question Id : 1908891061 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: If milking 1s incomplete there 1s a tendency for the cow to dry off too soon.
Statement II: Incomplete nulking results in udder infection.

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I 1s correct but Statement II 1s incorrect
Statement I 1s incorrect but Statement II 15 correct

b =

P X

Options:
1908894177. 1
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1908894178. 2
1908894179. 3

1908894180. 4

Question Number : 20 Question Id : 1908891061 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A aFRTATE

FIF - 1 X QT 79 2 A1 A1 A A AT F Y T GEA A v3fed @
e

FUF - 11 ¥ 79 57 § A9 & THA &1 Tl |
3 $m* el H i§|”| Ell@fl an'f':” #ﬂ'ﬂﬁm?ﬁ

. FUF 137 n3E T #

FU [ AT LA 7T 2

FU 1 T8 8. g FYF 170 &
4. FYF 1704 8. e FUF DT 8

=

!-.J'

Ll

Options:

1908894177. 1
1908894178. 2
1908894179. 3

1908894180. 4

Question Number : 21 Question Id : 1908891062 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Read the following statements and choose the correct statements:
A. Foot and mouth disease 1s caused by virus.

B. Brucellosis disease 1s caused by bactena.

C. Haemorrhagic septicaemua 1s caused by bacteria.

D. Rinderpest 1s caused by virus.

Choose the correct answer from the options given below:

1. A.BandD only
2. A.BandC only
3. AandB only
4. A.CandD only
Options:
1908894181. 1
1908894182. 2
1908894183. 3

1908894184. 4

Question Number : 21 Question Id : 1908891062 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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fasafori@a arFat #t gfer 3R |Er Fy=1 FF T
A. GTIHT HETHT AN fasmoy Zamr g &

B. HHIFAF TS dIAT SET0] 3R g &

C. TEIE ATART &) ZaRT gar &

D. zT gre fiardr o) ganr g &

A foT aT FFedt & ¥ WEr 3o 9

. AB.CHTDEHEN &
. FIT A BHAT cEEr ¥
. FId AR BEHE &
4. FIT A.CHT DTEr g

[

| ]

L

Options:

1908894181. 1
1908894182. 2
1908894183. 3

1908894184. 4

Question Number : 22 Question Id : 1908891063 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements. one 1s labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A: Ruminants frequently going to grassland rarely face vitamin D deficiency.

Reason R: Vitamin D 1s synthesized by ruminant animals when exposed to sunlight,

In light of the above statements, choose the most appropriate answer from the options given
below

Both A and R are correct and R 1s the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A is correct but R 1s not correct

A is not correct but R 1s correct

‘._; [

.

Options:

1908894185. 1
1908894186. 2
1908894187. 3

1908894188. 4

Question Number : 22 Question Id : 1908891063 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A 3 FuA foT T E T HIEEAR (A) 3T ZE T OFWOT (R) FET A £

HAFAA (A) : TR # S e TAR T3t 7 e & Fr w4 aga 770 g
gl

FWUT(R) : ¥ $ 39EA(d & WA= Q3 & faarfda S 7 weewor g g
39YFT FIA F HeiF 7 fawifea faFedt # @ 78 3o 9

- (A) AT (R) g T E AR (R). (A) Fr T e

- (A) AR (R) A T § T (R). (A) FT TEY e F@ L
3. (A)WE § W (R) Wel T &

4. (A) T8 AF € W (R) T £

[a——
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Options:

1908894185. 1
1908894186. 2
1908894187. 3

1908894188. 4

Question Number : 23 Question Id : 1908891064 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following 1s the primary sex organ in male reproductive system of animals?

Penis

Testicles
Seminal Vesicles
Spermatic cord

e L b

Options:

1908894189. 1
1908894190. 2
1908894191. 3

1908894192. 4

Question Number : 23 Question Id : 1908891064 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fA=fof@a # @ Fiawr 93 FT F94 77 7 ATT Fa7 3T € 2

1. fores

2. 90T

3. YR

4. 9EUT =]
Options:
1908894189. 1
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1908894190. 2
1908894191. 3

1908894192. 4

Question Number : 24 Question Id : 1908891065 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List I with List I1

List I

Animal species
A. Buffalo

B. Mare

C. Sheep

D Sow

Choose the correct answer from the options given below:

List II

..:I._ength of estrous cyrle!
1116 -17 days |
1L 19 - 20 days

|11, 20 -23 days

IV, 20-22 days

1. A-IIL.B-II.C-IV.D -1
2. A-IV.B-1.C-II.D-1III
3. A-IV.B-IIIL.C-1.D-1I
4. A-ILB-II.LC-III.D-1IV

Options:

1908894193. 1
1908894194. 2
1908894195. 3
1908894196. 4

Question Number : 24 Question Id : 1908891065 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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= -1 F T -1 AT FT

T -1 T -1
(9] e (AT 9% T I
A 3T 1.16-17f=
B. ©sr I1.19-20 &=
C.93 1. 20 -23 e
D. §3r IV. 20-22
A for 9T IFedt # ¥ W Sea v
1. A-IILB-IL.C-IV.D-1I
2. A-IN.B-ILC-ED-H
3. A-IV. D11 C-1 D=1
4. A1 Bl C+I;D-IV

Options:

1908894193. 1
1908894194. 2
1908894195. 3

1908894196. 4

Question Number : 25 Question Id : 1908891066 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List I with List II

List I List IT

Milk Product Place

A. Basundi I. North East India
B. Sandesh II. East India

C. Churpi I11. South India

D. Payasum IV. West India

Choose the correct answer from the options given below:

A-IV.B-1LC-II.D-III
A-ILB-II.C-IIILD-1IV
A-III.B-IV.C-II.D-1
A-IV.B-II.C-LD-III

e (T

Options:

1908894197. 1
1908894198. 2
1908894199. 3
1908894200. 4

Question Number : 25 Question Id : 1908891066 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Gl -IF G - ¥ gARfeE T

- T -1
(&Y 3791 (TT)
A. arget 1. qafeat A
B. #evl 1. & #Ra
C. g 1. Zfaor #Re
D. IHH IV, 9fessr 3ma
A= ffr o oFedt & ¥ ®E 3o gfav
1. A-IV.B-LC-I,D-II
2. A-LB-ILC-MLD-IV
3. A-ILB-IV,C-I,D-1
4. A-IV,B-I,C-LD-II
Options:

1908894197. 1

1908894198. 2

1908894199. 3

1908894200. 4

Question Number : 26 Question Id : 1908891067 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What 1s the scientific name of finger millet?

Setaria italica L. Beauv

1
2. Eleusine coracana L.
3.

4. Panicum miliaceum

Panicum sumatrense

Options:

1908894201. 1

1908894202. 2

-
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1908894203. 3

1908894204. 4

Question Number : 26 Question Id : 1908891067 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

el T FATAF ATH FAT & 2

1. HRAT SforeT Ta. I3
2. FfHS FRIFHET T4,

3. ufeasH gA=H
4. 3w AT
Options:
1908894201. 1
1908894202. 2
1908894203. 3
1908894204. 4

Question Number : 27 Question Id : 1908891068 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What 1s the name of fertilizer prepared from Rhizobium culture?

Bio-fertilizer
Azotobacternin
Rhizobium
Nitrogin

s b

.

Options:

1908894205. 1
1908894206. 2
1908894207. 3
1908894208. 4
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Question Number : 27 Question Id : 1908891068 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TEAMETT FIUSF SIRT SR 3a7F I FIT Fgd & 2

1. 3T+ 33

b2

Lo

THAEFE A
TEAETH

4. TSI

Options:

1908894205. 1

1908894206. 2

1908894207. 3

1908894208. 4

Question Number : 28 Question Id : 1908891069 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What 1s the total wrrigated area of India?

L

_-—cee

Options:

58.5 million hectare
63.4 million hectare
78.5 million hectare
88.5 million hectare

1908894209. 1

1908894210. 2

1908894211. 3

1908894212. 4
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Question Number : 28 Question Id : 1908891069 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

a1 Fo BT &7 fFaar € ¢

1. 58.5 A= =TT

2. 63.4 AoEa gFeTT

3. 78.5 AToas gFeay

4. 88.5 HTo@a g9¢aY
Options:

1908894209. 1
1908894210. 2
1908894211. 3

1908894212. 4

Question Number : 29 Question Id : 1908891070 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements

Statement I: Sustamable agriculture 1s the successful management of resources to satisfy
changing human needs while maintaining the quality of the environment and conservation of
natural resources.

Statement II: Contingency cropping system 1s growing of crops in aberrant weather conditions.

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I 15 correct but Statement II 15 incorrect
Statement I 15 incorrect but Statement II 15 correct

|

e e

Options:
1908894213. 1
1908894214. 2
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1908894215. 3

1908894216. 4

Question Number : 29 Question Id : 1908891070 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A A FYA v AT §

FYS - 1 [CHF U, IR A PR F T W O AR TFfAF Tt
HTEUT FIA FU A HT ol g5 HaTFaA # Fgree # for gamat
TEadT &% JaUd 8

FUF - 11 AR 1 gioge IRIEAAIr & FHel F1 397047 1 H19eT FHS J0Telt
FEAI £

S FUR § A & Prare R ¥ w5 3

. FUF 1A 13 7 £

. FYF 13T 1gEr T £

. FY 188 ¢ e FU 1794 g
4. FYF 1700 8. e FYF NFEE

[r—

|

L

Options:

1908894213. 1
1908894214. 2
1908894215. 3
1908894216. 4

Question Number : 30 Question Id : 1908891071 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements
Statement I: The optimum soil temperature for micro-organisms 1s ranged from 40 °C to 45 °C.

Statement II: Various microbiological processes like mineralization of mitrogen. nitrogen
fixation. pesticide degradation ete. are mainly influenced by soil temperature.

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I 15 correct but Statement II 15 incorrect
Statement I 15 incorrect but Statement II 15 correct

[ R

S S0

Options:

1908894217. 1
1908894218. 2
1908894219. 3
1908894220. 4

Question Number : 30 Question Id : 1908891071 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A 3 Fya T AT §
FUF - 1. GeR Mt % v Jgr 71 waffeaa aTod= 40 °C F 45 °C g €

FU - 11 Ffay Qe I S Ao 1 G, Agee Fadew
FITAIF HIUCA IcAE AET §9 ¥ Hel AYAE F ZaNT JaIfad g 8l

39UFT FYA F AT H Aol hed # ¥ T e I

P—

. FUF 1HT 13 T £

. FYF 13T 134 T £

. FYF 173" ¢ e FYa 1704 £
4. FYF 17000 ¢. feq U7 1T £

| S

LW

Options:
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1908894217. 1
1908894218. 2
1908894219. 3

1908894220. 4

Question Number : 31 Question Id : 1908891072 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Read the following statements and choose the correct statements:

A. Balance nutrition to crop plants increases yield and quality.

B. Nutrient deficiency symptoms are rare with balance fertilization,

C. Integrated nutrient management practices provide the nutrients to crop i balance rato.

D. Integrated nutrient management 1s an economic viable and environmentally safer practice.

Choose the correct answer from the options given below:

1. A.CandD only
2. B.CandD only
3. AB.CandD
4. A.BandC only
Options:
1908894221. 1
1908894222, 2
1908894223. 3

1908894224. 4

Question Number : 31 Question Id : 1908891072 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[ ]
gcollegedunlaa
India’s largest Student Review Platform

el



fArafofEs aear # 9fer AR T FU=t F oIfev

A FHAT St & Fgford SI90T 3cqTEHar Ua AUTEcal et ¢

B.¥qfoid 347 FaY ¥ UINF dcd 1 Foll F Fa07 agd & FA 2 ¢

C. FAf~Id 9I9F dcd JaUa IHAT FHA FT A9F dcd Hfod Feqad # Fe
Fr €l

D. WRTead 9% decd JaUa UF 41 A% U9 aaraquiry JRiae ginar £
A v o et & & W@ 3w T

. %9 A.CHR D
. #$Id B.CHR D
3. AB.CHRD

4. $Id A BHR C

[y

| o

Options:

1908894221. 1
1908894222. 2
1908894223. 3

1908894224. 4

Question Number : 32 Question Id : 1908891073 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements

Statement I: Measurement of water deficit in plants 1s must for scheduling irrigation,
Statement II: Crop water requirement may not vary with soil types, crops and growth stages.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement I and Statement II are correct

2. Both Statement I and Statement II are incorrect

3. Statement I 1s correct but Statement II 15 incorrect
4. Statement I 1s incorrect but Statement II 1s correct

Options:

1908894225. 1
1908894226. 2
1908894227.3
1908894228. 4

Question Number : 32 Question Id : 1908891073 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AT A FUF RT AT E

Fu7 - 1. o e == & fr ot & o= & T 71 A FE S5
gl

FUA - II: FHA Fol AT T A¢I ¢ [ A T9R, FHell U9 (g HTEA F Y
|

IYFT FUA F HAF 7 fArAioQa Fhea # ¥ WE 3o’ I

. YT 137 1341 7@ £
. FYF 1T 13 79T £

3. FUF 1HEE. e FUF 770 £
4. FYF 1797 ¢ g F99 1F ¢
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Options:

1908894225. 1
1908894226. 2
1908894227. 3

1908894228. 4

Question Number : 33 Question Id : 1908891074 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List I with List II

List I List I

Soil Types -Spﬂcing of water drainage in m
A. Clay 1. 30 - 100 |
B. Loam 1. 30-70

e Sandy loam 111. 10 - 20

D. Peat V. 20 - 35

Choose the correct answer from the options given below:

1. A-IV.B-IIILC-II.D-1I
2. A-IIILB-IL,C-1L.D-1IV
3. A-III.B-IV.C-II.D-1
4. A-IV.B-II.C-III.D-1

Options:

1908894229. 1
1908894230. 2
1908894231.3
1908894232. 4

Question Number : 33 Question Id : 1908891074 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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T -IF G -1 gAfeT ffS

Tl 1 T -1
(FET THR) (e T &7 g (#))
A ol I.30-100
B.gHAT I1. 30 - 70
C. 98 AT III. 10 - 20
D. 9 IV.20-35
A feT 7T fSFedr A ¥ Wl 3o qAT
1. A-IV,B-II,C-II.D-1I
2, A~ B=<II.C-LD-1IV
3 A-MLB-IW.C-H.D-1
4, A-IV,B-1I,C-II,D-I
Options:

1908894229. 1
1908894230. 2
1908894231. 3
1908894232. 4

Question Number : 34 Question Id : 1908891075 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Read the following statements and choose the correct statements:

A. Tubers of Cyperus esculentus affect the growth of maize.
B. Crop rotation 1s one of the most important practices for controlling all weeds.

C. Seed exudates of wild oat affect wheat germination.

D. Seed bed preparation maximizes the early weed flushes.
E. Smother crops grown as mntercrop to suppress the weed flora.

Choose the correct answer from the options given below:

1. A.BandC only
2. B.CandD only
3. C.DandE only
4. A.CandE only

Options:

1908894233. 1
1908894234. 2
1908894235. 3

1908894236. 4

Question Number : 34 Question Id : 1908891075 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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E. HTa0T el ¥ed- 2T FHe & ¥ H IR F 9t F¥ ga & 39 et
gl

A T v fowedt & @ WE 3o I

. $aa A BHR C
. ®II B.CAR D
3. $90 C.DHR E
4. FIT A.CHR E

| B

Options:

1908894233. 1
1908894234. 2
1908894235. 3

1908894236. 4

Question Number : 35 Question Id : 1908891076 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Calculate the amount of sulfosulfuron contamning 0.75 kg a.1. per kg. for an area of 5 ha. The
application rate 15 3.0 kg a.1./ ha.

20 kg/ ha
40 kg/ ha
30 kg/ ha
10 kg/ ha

b =

=

Options:
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1908894237. 1
1908894238. 2
1908894239. 3

1908894240. 4

Question Number : 35 Question Id : 1908891076 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T W T F U Tewrmemia w7 w075 e w3, 9f3 fem #
AT H¢| 39T 2T 3.0 R wa g

1. 20 & /&,
40 & /7.
3. 30 fRm 2.
4. 103 /&,

-

Options:

1908894237. 1
1908894238. 2
1908894239. 3

1908894240. 4

Question Number : 36 Question Id : 1908891077 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List I with List I

List I List II

C rop ‘Weed species
A. Berseem I. Wild rice
B. Wheat II. Wild oat
'C. Rice -EIII. Chicory
D. Tea IV. Loranthus

Choose the correct answer from the options given below:

1. A-IV.B-II.C-LD-1III

2. A-LB-II.LC-III.D-1IV

3. A-II.B-IIILC-L.D-1IV

4 A-IIILB-II.C-LD-IV
Options:

1908894241. 1
1908894242, 2
1908894243. 3

1908894244. 4

Question Number : 36 Question Id : 1908891077 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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T -1 T -II

(ww) (@R A1)
A TR . ST T
:B.J’I'E I1. STl T8

C. o1 111 oY

D. 9 IV. aeaw

A fgU 71T fSFedt # ¥ HEr 3} AT

1. A-IV.B-II.C-LD-III
2. A-LB-II.C-IIILD-1IV
3. A-IILB-IIL,C-1.D-1IV
4, A-NIILB-II.C-1L.D-IV

Options:

1908894241. 1

1908894242 2

1908894243. 3

1908894244, 4

Question Number : 37 Question Id : 1908891078 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Read the following statements and choose the correct statements:
A. Pusa 1121 1s the ruling basmati rice variety.

B. C-306 1s a drought tolerant wheat variety.

C. UPAS 120 1s an early variety of pigeon pea.

D. Black soils are most suitable for cotton cultivation.

E. India ranks first in rice production.

Choose the correct answer from the options given below:

1. A.B.CandD only

2. B.C.DandE only

3. A.C.DandE only

4. A.B.DandE only
Options:

1908894245. 1
1908894246. 2
1908894247. 3

1908894248. 4

Question Number : 37 Question Id : 1908891078 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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fasafof@a arFat #r gfer 3R w58 Fyat F A0
A, TET 1121 STHEAGT o7 Fr 37aroft FFee g
B.c*-.aosﬂgaﬁrﬁmuamﬁﬂ%mal

C. UPAS 120 3{gT #T T 33T fFEF 2

D. FTell HSIT FIH 3c9EA & (o0 FI§ 39g%d giar g1
E. U 3c9ed H dF FT JIH TIH £

A QT o Seedt & & WEr 3o 9+

1. 3 A.B.C 3T D
. %g9da B.C.D3IT E
. 90 A.C.DHR E
4. 30 A.B.DHR E

| g

LS

Options:

1908894245. 1
1908894246. 2
1908894247. 3

1908894248. 4

Question Number : 38 Question Id : 1908891079 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements

Statement I: Dryland agriculture is occupying 67 % of the cultivated area and contributing more
than 50 % to the total foodgrains.

Statement II: India received average annual ramnfall of about 1000 mm which 1s below the
global average ramnfall.

In light of the above statements, choose the most appropriate answer from the options given
below

. Both Statement I and Statement II are correct

. Both Statement I and Statement II are mncorrect
Statement I 15 correct but Statement II 1s incorrect
. Statement I 15 incorrect but Statement II 1s correct

NE FE R S

Options:

1908894249. 1
1908894250. 2
1908894251. 3

1908894252. 4

Question Number : 38 Question Id : 1908891079 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[ ]
gcollegedunlaa
India’s largest Student Review Platform

el



AN FEERTATE

FUF - 1. 5F F 67% 8T T A § T FoI TEeoA # 50% F HUF A7 &
gl
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Fu 13K n3et 7 E
. FYF 1 AT 13 T £

3. ®Y 17! ¢ fheg FYa 1700 g
4. FYF 1700 ¢, e F47 I 2
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Options:

1908894249. 1
1908894250. 2
1908894251. 3

1908894252. 4

Question Number : 39 Question Id : 1908891080 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements. one 1s labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A: Sodium benzoate 13 used as preservatives in fruit product having natural colour.
Reason R: For every kilogram of fruit juice or pulp. 10 gram sodium benzoate 1s added.
In light of the above statements. choose the most appropriate answer from the options given

below

Both A and R are correct and R 1s the correct explanation of A

. Both A and R are correct but R 1s NOT the correct explanation of A
A s correct but R 15 not correct

. A 1s not correct but R 1s correct

o Lo I

Options:

1908894253. 1
1908894254. 2
1908894255. 3
1908894256. 4

Question Number : 39 Question Id : 1908891080 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A 2 FUF BT 90§ . 0F F HFFAF (A) HT T/ FT FROT(R) FFT A

HHAFUA (A): s T gerat & iR & v fiftTs swve #1 3997
gl
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ST £l
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. (A)FE € g (R) WS AR £
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Options:

1908894253. 1
1908894254. 2
1908894255. 3

1908894256. 4

Question Number : 40 Question Id : 1908891081 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Calculate the number of plants of tomato accommodated in one hectare area, if row to row
distance 1s 60 cm and plant to plant distance 1s 45 cm?

47000 Approximately
37000 Approximately
33000 Approximately
27000 Approximately

e fad b

Options:
1908894257. 1
1908894258. 2

1908894259. 3
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1908894260. 4

Question Number : 40 Question Id : 1908891081 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

U% §9¢OT 8T # o019 910 TR & 9t #7 J0&r 0 3R FAR § FAR A T
60 T TF i § oty 7 g 45 /A £ 0

. oldIdT 47000
olarHdr 37000
. ofdIAdT 33000
4. ofdAT 27000

.

[ S

L

Options:

1908894257. 1
1908894258. 2
1908894259. 3
1908894260. 4

Question Number : 41 Question Id : 1908891082 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which among the following 1s most common and commercial method of propagation in
gladiolus?

Tissue culture
Seed

Corm

Suckers

e Lo b

Options:
1908894261. 1
1908894262. 2

1908894263. 3
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1908894264. 4

Question Number : 41 Question Id : 1908891082 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fArfofid # ¥ w=fEew § @i & gafs ke @ amie & s ¢

. Jed® gIua
ars
cor

4, THY

2

L]

Options:

1908894261. 1
1908894262. 2
1908894263. 3

1908894264. 4

Question Number : 42 Question Id : 1908891083 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements. one 1s labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A: December- February 1s 1deal time for rose budding (T-budding) in northern plains
of India.

Reason R: The commonly used rootstock for budding 1s Eduard rose (R. bourboniana).

In light of the above statements, choose the most appropriate answer from the options given
below

. Both A and R are correct and R 15 the correct explanation of A

. Both A and R are correct but R 1s NOT the correct explanation of A
3. A s correct but R 1s not correct

4. A1snot correct but R 1s correct

.,__; P

Options:

1908894265. 1
1908894266. 2
1908894267. 3
1908894268. 4

Question Number : 42 Question Id : 1908891083 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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4. (A) W T § T (R) T £

| g
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Options:

1908894265. 1
1908894266. 2
1908894267. 3

1908894268. 4

Question Number : 43 Question Id : 1908891084 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List I with List IT

ListI List II

j(?mp Rootstock

A. Grape I. Jatti- Khatt
B. Mango II. Dog Ridge
C. Guava III. Kurukan
D. Citrus IV. Pusa Srijan

Choose the correct answer from the options given below:

B

Options:

1908894269. 1
1908894270. 2
1908894271.3
1908894272. 4

A-II.B-IV.C-IIL.D-I
A-II.B-INL.C-IV.D -1
A-III.LB-1.C-II.D-1IV
A-IV.B-IIILL.C-II.D-I

Question Number : 43 Question Id : 1908891084 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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T - T -1
(HH) (Heldd)
A 3T I 3l - @3l
B. {TH 1L 31 O
C. HA®S I11. F&Fe
D. g Feft7 war IV. T8 i
@ few av faFest & ¥ w8 3o gfAv

1. A-ILB-IV,C-HI,D-I

2. A-ILB-MLC-IV,D-1I

3, A-ILB-1,C-I,D-IV

4, ASIW.B-TLC-MD-1
Options:

1908894269. 1
1908894270. 2
1908894271. 3

1908894272. 4

Question Number : 44 Question Id : 1908891085 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Read the following statements and choose the correct statements:
A. Almost 75 % of the grapes are consumed as fresh.

B. Almost 85 % of the grapes are used i wine making.

C. Grape 1s evergreen crop.

D. Centre of origin of grape 1s Armenia.

E. Maharashtra 1s leading producer of grapes i India.

Choose the correct answer from the options given below:

1. B.CandE only
2. B.DandE only
3. A.DandE only
4. C.DandE only

Options:

1908894273. 1
1908894274. 2
1908894275. 3

1908894276. 4

Question Number : 44 Question Id : 1908891085 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A T v Reedt & € W oW

. $FAB.CHR E
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. %3 ADARE
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2
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Options:

1908894273. 1
1908894274. 2
1908894275. 3

1908894276. 4

Question Number : 45 Question Id : 1908891086 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements. one 1s labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A: De-navelling 1s removal of male bud.
Reason R: De-navelling helps i better frmt filling and early maturity,

In light of the above statements, choose the most appropriate answer from the options given
below

Both A and R are correct and R 1s the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A 15 correct but R 1s not correct

A 15 not correct but R 15 correct

| S

= o

Options:

1908894277. 1
1908894278. 2
1908894279. 3
1908894280. 4

Question Number : 45 Question Id : 1908891086 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A 3 FY9 U A0 & 0% T HFFYS (A) HT ZH FT FROT(R) FT T ]
HIFFUF (A): 3 - AT AT FIOFT F Z2=T £

FROT (R): & - AT 30 T AR 0 A TR A TS

IIFT FUA F HAF H eied fowed & ¥ W@ 3w W
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Options:

—_—

| E

[ ]
gcollegedunlaa
India’s largest Student Review Platform

el



1908894277. 1
1908894278. 2
1908894279. 3

1908894280. 4

Question Number : 46 Question Id : 1908891087 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Read the following statements and choose the correct statements:
A. Pusa Snowball-1 1s a late variety of cauliflower.
B. Pusa Himjyot1 1s an early vanety of cauliflower.
C. Pusa Sharad 1s a mild early variety of cauliflower.
D. Pusa Deepali 1s an early variety of caulitflower.
E. Pusa Snowball KT-25 1s an early vaniety of cauliflower.
Choose the correct answer from the options given below:
. B.D and E only
2. A.BandC only

1
3. A.CandD only
4. B.C and D only

Options:

1908894281. 1
1908894282. 2
1908894283. 3
1908894284. 4

Question Number : 46 Question Id : 1908891087 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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. gl A.CHRT D
4. FIA B.CHT D

LIFY

Options:

1908894281. 1
1908894282. 2
1908894283. 3
1908894284. 4

Question Number : 47 Question Id : 1908891088 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List I with List I

List I List IT

Variety Associated

A. CO-7 I. Arka Surya x Tamnung-1lo

B. Arka Surya II. Coorg Honey Dew x CP- 85

C. Pusa Nanha IT1. Sunrise Solo x Pink Flesh Sweet
D. Arka Prabhath IV. Dwarf Mutant Variety

Choose the correct answer from the options given below:

1. A-ILB-IIIL.C-IV.D-1I

2. A-ILB-III.C-IV.D-1I

3. A-ILB-1L.C-IV.D-1II

4. A-IV.B-L.C-IILLD-1II
Options:

1908894285. 1
1908894286. 2
1908894287. 3
1908894288. 4

Question Number : 47 Question Id : 1908891088 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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T -IH S -0 ¥ gAfeT e

T T
(fFem) (FFa)
A.CO-7 L 3 FaT x 37 - la
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| P .85
!B.aﬁﬁ‘rqu‘r .II.?:TEFﬁ?[{xCP 83
C. AT dFegr III. F5 Hial x o warer &g
D.¥F FHE  [IV. 3l sefEde e
A T 91T Tt # ¥ wE 3eaw gfAv
1. A-NB-G0-V.D-1
2. A-L C-IV.D-II
1 A-ILB-10-I D=1
4. A-IV,B-LC-IL,D-1I
Options:

1908894285. 1
1908894286. 2
1908894287. 3

1908894288. 4

Question Number : 48 Question Id : 1908891089 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which fruit 1s known as poor man’s apple?

Ber
Guava
Pear

et vl

Options:

1908894289. 1
1908894290. 2
1908894291. 3

Custard Apple

-
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1908894292. 4

Question Number : 48 Question Id : 1908891089 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

g wo FIalar FT 8 FgT AT § 2

1. HEamwe
2. &@¥

3. HHAFG
4. FATITAT

Options:

1908894289. 1
1908894290. 2
1908894291. 3

1908894292. 4

Question Number : 49 Question Id : 1908891090 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Brown heart of radish 1s caused due to which of the following?

Variation in temperature
Calcium deficiency
Boron deficiency
Delayed harvesting

I~ -

ot g

Options:

1908894293. 1
1908894294. 2
1908894295. 3

1908894296. 4
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Question Number : 49 Question Id : 1908891090 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T FT I3 g U Fe 7 ¥ FmE R gar § 0

1. agaT 7 Bfdear
. Fegar T FAT

J

3. GRS & FAT
4. X ¥ gars FTm
Options:

1908894293. 1
1908894294. 2
1908894295. 3
1908894296. 4

Question Number : 50 Question Id : 1908891091 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Read the following statements and choose the correct statements:

A. Brinjal 1s fourth major vegetable crop of India.

B. Cabbage is third major vegetable crop of India.

C. Pea 1s a vegetable crop as well as a pulse crop.

D. In India. West Bengal 1s leading producer of cauliflower.

E. Uttar Pradesh 1s leading producer of potato in India.

Choose the correct answer from the options given below:

1. A.B.C andD only

2. A.B.CandE only
3

. B.C.D and E only
4. A.C.DandE only
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Options:

1908894297. 1
1908894298. 2
1908894299. 3

1908894300. 4

Question Number : 50 Question Id : 1908891091 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

femafaf@a =t #r 9feT 3R W@ Fyar F1 AT ¢

A 479 dF #T =RT T Fesll el BHA gl

B. Teamansfl ¥R T A8 T Fesll arell FHA g

C.HIT UF Heal Aol FHA + TY - HY TAgaAT GHA T £
D. ¥Rd # ForddAT 3c9ea H 9eH F9mel FA0fT =7 &
E. ¥Nd # 3cal 92T AT 3918 HFAUT T g

A T av Feeet & ¥ WEr 3o A

1. g A.B.C3RX D
2. 90 A.B.CHR E
3. 90 B.C.DHR E
4. %9f A.C.DHR E

Options:

1908894297. 1
1908894298. 2
1908894299. 3
1908894300. 4
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Part B Biology

SectionId: 19088934
Section Number : 2

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200
Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number: 1
Sub-Section Id : 19088960
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 1908891092 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If you suspect major deficiency of antibodies 1n a person. then which of the following would you
look for confirmatory evidence?

Serum albumins

. Fibrinogen in plasma
Serum globulins
Triglycerides

= Lo 2 —

Options:

1908894301. 1
1908894302. 2
1908894303. 3
1908894304. 4

Question Number : 51 Question Id : 1908891092 Question Type : MCQ Option Shuffling : No Is
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Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

7fg frdt @@fRT # gfagvs & miT A AEgw & 6 & gAvE qfee &g
foes & 7 &Tr 0

. R TR

. COTEAT ® 3UTEAT BIEaiaArste
- T

AELE B

[—

| )
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Options:

1908894301. 1
1908894302. 2
1908894303. 3
1908894304. 4

Question Number : 52 Question Id : 1908891093 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: The greater 15 the concentration of water in a system. lower 1s 1ts kinetic energy or
water potential.

Statement II: Pure water will have the lowest water potential.

In light of the above statements. choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I 1s correct but Statement II 15 incorrect
Statement I 1s incorrect but Statement I 15 correct

e s b e
C I " 0=

Options:
1908894305. 1

1908894306. 2
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1908894307. 3

1908894308. 4

Question Number : 52 Question Id : 1908891093 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AT A FYF R av §

FUF - 1. 50 7 & 9= i 30 @7 W swH afgF FAT Y e
TIeATITS FUT Zm|

FYF - 11: YL Fo F T NEARTAT T8 FA &A1 £
39YFd FUAT F WA # AeAfaied Fwedr # ¥ FEr el I ¢

. FYF 13X D3 T €

FU 1A 1A 3HT L

FIF 177 ¢. e FUF 11 3787 £
4. FIF 1787 8. heq F97 N FTE
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*.._,IJ

Options:

1908894305. 1
1908894306. 2
1908894307. 3

1908894308. 4

Question Number : 53 Question Id : 1908891094 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements

Statement I: In fermentation. there 1s a net gain of 12 molecules of ATP for each molecule of
glucose degraded to pyruvic acid whereas only 2 molecules of ATP are generated under aerobic
conditions

Statement II: Fermentation account for only a partial breakdown of glucose whereas in aerobic
respiration it 1s completely degraded to CO; and HyO

In light of the above statements. choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I 15 correct but Statement II 15 incorrect
Statement I 1s mcorrect but Statement II 1s correct

e Lad 0

Options:

1908894309. 1
1908894310. 2
1908894311. 3

1908894312. 4

Question Number : 53 Question Id : 1908891094 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[ ]
gcollegedunlaa
India’s largest Student Review Platform

el



AT FyA T AT E

FYF - 1. 50 ¥ 501 7 53F TR F TAEeH HFT H dgold W ATPF 12
HULHT FT S TH AT § FalF JYET FTEA H ATP F 2 HU[H 39+ 21 £
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Options:

1908894309. 1
1908894310. 2
1908894311. 3

1908894312. 4

Question Number : 54 Question Id : 1908891095 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements

Statement It The first five reactions of glycolytic pathway convert a molecule of glucose into 2
molecules of glyceraldehyde-3-phosphate.

Statement II: The final product of glycolysis 1s pyruvate in aerobic settings and lactate
anaerobic conditions.

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are mcorrect
Statement I 15 correct but Statement II 15 incorrect
Statement I 15 incorrect but Statement II 1s correct

e o b

Options:

1908894313. 1
1908894314. 2
1908894315. 3

1908894316. 4

Question Number : 54 Question Id : 1908891095 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[ ]
gcollegedunlaa
India’s largest Student Review Platform

el



A aFFRTaT !

FUF - 1. TFIATEICH A H ARG F 0F H] S R @ wehmetieEs - 3
FIERE F 2 FUL3T # agera gl

FUT - 11 : TOSHOSHE T F TTET HTEAT § TI6IC AT HIST HIEqT A
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o

| S
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Options:

1908894313. 1
1908894314. 2
1908894315. 3

1908894316. 4

Question Number : 55 Question Id : 1908891096 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List I with List IT

List I List II

A. Streptococcus |1. Diffusion

B. Thiobacillus |II. Nitrogen fixation
C. Porins III. Denitrification
D. Beijernickia |[IV. “Clot buster”

Choose the correct answer from the options given below:

1. A-IL.B-1L.C-IV.D-1III

2. A-IV.B-III.C-1.D-1I

3. A-LB-II.LC-III.D -1V

4. A-IV.B-III.C-II.D-I
Options:

1908894317. 1
1908894318. 2
1908894319. 3

1908894320. 4

Question Number : 55 Question Id : 1908891096 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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T -1 g -1

qm 1. fEgwor

B. ATIETEAH I1. ATSEIA TITaTehTeRToT
C. 9= 111, =TSt
e V. aFT foeTas

A BT ar Beedt # ¥ ¥Er 3oaw giAv

1. A-II.B-LC-IV.D-III
2. A-IV.B-IIILC-1.D-II
3. A-ILB-IL.C-III.D-1IV
4. A-IV.B-IIILC-II.D-I

Options:

1908894317. 1

1908894318. 2

1908894319. 3

1908894320. 4

Question Number : 56 Question Id : 1908891097 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A section of double stranded DNA is composed of 41% adenine bases. What 1s the percentage of
cytosine bases 1 this section of DNA?

18%
0%

36%
82%

e Lad et

Options:

1908894321. 1
1908894322. 2
1908894323. 3
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1908894324. 4

Question Number : 56 Question Id : 1908891097 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

DNA® UF T3 ¥ 41% Uefaa a@ 39tyq 8| e ¥ ¥ 39 @S § 99 I ar
TIE®a 98 $ giaed #19 F1 HFhad #1

18%
9%

36%
82%

e o bd =

Options:

1908894321. 1
1908894322. 2
1908894323. 3
1908894324. 4

Question Number : 57 Question Id : 1908891098 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Exclusively marine. radially symmetrical and diploblastic organism 1s

Pila

Neries
Pleurobrachia
Asterias

| S

= L

Options:

1908894325. 1
1908894326. 2
1908894327. 3

1908894328. 4
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Question Number : 57 Question Id : 1908891098 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

qUIFAT FHEL. FOT FARMATT AT gRFRET AT F T899 FY

E

4. UiEeUH

Options:

1908894325. 1
1908894326. 2
1908894327.3
1908894328. 4

Question Number : 58 Question Id : 1908891099 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An ecosystem which can be easily damaged but can recover if damaging effects stop. will be
having

Low stability and high resilience
High stability and low resilience
High stability and high resilience
Low stability and low resilience

o

Options:

1908894329. 1
1908894330. 2
1908894331. 3
1908894332. 4

Question Number : 58 Question Id : 1908891099 Question Type : MCQ Option Shuffling : No Is
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Correct Marks : 4 Wrong Marks : 1

afe frdr ofifeufadr 79 # waeh ¥ @09 5 o1 &Far £ IfE @0 = &
FF 7¢ & AT § A FT TAT 99T [@AGH AT T FhT £, M £ -

1. e fouwar qur 3=v viawstea
. 39 TR qun e yfawstea
. 39 fouwar aur 39 yfawsiear
4. fom e Fur Eea vfawsear

Options:

b2

il

1908894329. 1
1908894330. 2
1908894331. 3

1908894332. 4

Question Number : 59 Question Id : 1908891100 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Consider the following steps which are mvolved 1n cloning of foreign into plasmud vector
A. Isolation of foreign DNA
B. Restriction digestion of foreign DNA and plasmud vector
C. Ligation of DNA to plasmid
D. Blue whate selection
E. Transformation in cloning host
Choose the correct answer from the options given below:
1. A>B>C>E>D
2. A>B>E>C>D
3. A>C>B>E>D
4. A>D>E>B>C
Options:

1908894333. 1
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1908894334. 2
1908894335. 3

1908894336. 4

Question Number : 59 Question Id : 1908891100 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ECIRCICEC R G IFE R R S G TG B GLG E T  GU-

A. [agoft DNA #7 Ts0T

B. [a¢off DNA U7 I8+ J9eT FT IFeIhId SBAAA
C.DNA FT oEAs # 34

D. AT - §%e T34

E. Folldel GIQIST H FIEL0T

Arer fer o fasFedt & & WE 3o I ¢

L D

L J
\/ "uvf

._.[.'a.

e

& ww
v W

Options:

1908894333. 1
1908894334. 2
1908894335. 3
1908894336. 4

Question Number : 60 Question Id : 1908891101 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List I with List II

List I List IT

A. Manganese |I. Pollen germination

B. Potassitum [II. Chlorosis 1n older leaves

C. Magnesium |ITI. Necrosis

D. Boron IV. Photosynthesis

Choose the correct answer from the options given below:

1. A-IV.B-IIIL.C-1.D-1I

2. A-IILB-1.C-IV.D-1III

3. A-IILB-II,C-IV,D-1

4 A-IV.B-III.LC-II.D-1I
Options:

1908894337. 1
1908894338. 2
1908894339. 3

1908894340. 4

Question Number : 60 Question Id : 1908891101 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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LUl T I
A, FA I. JRTAT HFHIOT
B. wrefrs I e afeaat # gfadaar
C. AT 111 9ferea
D. 3= IV. ST Herqor
A fer 91T wedt # § Her 3caX iU
1. A-TV, -1L.D-II
2. A-ILB-LC-IV,D-IN
3. A-ILB-NLC-IV,D-1I
4. A-IV,B-TLC-ID-I
Options:

1908894337. 1
1908894338. 2
1908894339. 3

1908894340. 4

Question Number : 61 Question Id : 1908891102 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements

Statement I: All organisms, from prokaryotes to the most complex eukaryotes can sense to
environmental cues.

Statement II: Order and other higher taxonomic categories are not identified based on the
aggregates of characters. It 15 the assemblage of genes which exhibit few sumular characters.

In light of the above statements, choose the meost appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I 1s correct but Statement II 15 mcorrect
Statement I 15 incorrect but Statement II 15 correct

I,__;l_l.

S e

Options:

1908894341. 1
1908894342. 2
1908894343. 3

1908894344. 4

Question Number : 61 Question Id : 1908891102 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

1908894341. 1
1908894342. 2
1908894343. 3
1908894344, 4

Question Number : 62 Question Id : 1908891103 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Genes mvolved i turning on (or) off the transeription of a set of structural genes are called

1. Operator genes

[

Polymorphic genes

L

. Redundant genes
4. Regulatory genes
Options :
1908894345. 1
1908894346. 2
1908894347. 3
1908894348. 4
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Question Number : 62 Question Id : 1908891103 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
TUCATCHS AT & FTaiodad F7 HFT JUT Thad & TR A @0 e Far Ja
- 3
1. Joe® AT
. TgER A
Bcreciein
4. Tms I

| B

LW

Options:

1908894345. 1
1908894346. 2
1908894347.3
1908894348. 4

Question Number : 63 Question Id : 1908891104 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Allopatric speciation

A. New species evolve when one (or) more population of a species becomes separated from the
other population of the species due to geographical barrier.

B. Small groups of individuals break off from the larger group and form a new species

C. Over the time. cessation of the gene flow between geographically 1solated population leads to
the reproductive 1solation

D. The initial stage of allopatric speciation 1s polymorphism that does not depend on space
within a population

E. As a result of natural selection. geographically separate population become adapted to local
conditions and thus they are genetically differentiated

Choose the correct answer from the options given below:
. A&XEonly

. ALE&Conly

3. A B&Donly

4. A.B.C&E only

| )

Options:

1908894349. 1
1908894350. 2
1908894351. 3

1908894352. 4

Question Number : 63 Question Id : 1908891104 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

1908894349. 1
1908894350. 2
1908894351. 3
1908894352. 4

Question Number : 64 Question Id : 1908891105 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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In organ transplantations. cyclosporine A 1s used as an immune-suppressive agent which 1
produced by

1. Saccharomyces cerevisiae
2. Trichoderma polysporum
3. Monascus purpureus
4. Aspergillus niger
Options:
1908894353. 1
1908894354, 2
1908894355, 3

1908894356. 4

Question Number : 64 Question Id : 1908891105 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

HOT TeAnig & G = aren sfawem @O aec sEeareiE U Re g
IcqTiea T STaT § -
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Options:

1908894353. 1
1908894354. 2
1908894355. 3
1908894356. 4

Question Number : 65 Question Id : 1908891106 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Which of the following combination 1s related to ‘potential energy’
A. Matter has a natural tendency to move to the lowest possible state
B. A book on a table before it falls

C. A child on the floor

D. Water 1n a reservoir on a hill

E. A car that 1s parked

Choose the correct answer from the options given below:

1. B.D & E only

2. B.C.D & E only

3. A.B &D only

4. A.B.C & E only
Options:

1908894357. 1
1908894358. 2
1908894359. 3
1908894360. 4

Question Number : 65 Question Id : 1908891106 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

1908894357. 1
1908894358. 2
1908894359. 3
1908894360. 4

Question Number : 66 Question Id : 1908891107 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List I with List I

List I List II

A. Chitin I Polymer of fructose
B. Lecithin  [II. Protein

C Collagen |III. Polysaccharide
D. Inulin IV. Phospholipid

Choose the correct answer from the options given below:

A-III.B-II.C-1LD-1IV

Lo 9
g
=)=
o ™
E-‘")

NN
o
[
[
—
e
oo
i
bt
-q:'_: .
e
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—t
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O
]
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Options:

1908894361. 1
1908894362. 2
1908894363. 3
1908894364. 4

Question Number : 66 Question Id : 1908891107 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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T -1 T -1
A FTSTe I $hIH FT g+
B. FrETEiA= 1. S
C. Frorael 11 Treiraaniss
D. Seffeiet IV, FTERIRE
A T aw Rwest & ¥ wE 3ew g
. A-IILB-ILC-LD-1IV
2. A-HLB-LC - D-W
3. A-IV,B<1I,C-LD-II
4, A-IL,B-IV,C-IL,D-1I
Options:

1908894361. 1
1908894362. 2
1908894363. 3

1908894364. 4

Question Number : 67 Question Id : 1908891108 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements

Statement I: In Pheretima. the body 1s comprised of three prominent regions- preclitellar,
clitellar and postelitellar segments.

Statement II: Each distinct region of the Pheretima body 1s covered by brown exoskeleton with
ventral sternites and dorsal tergites.

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I 1s correct but Statement II 1s incorrect
Statement I 1s incorrect but Statement II 1s correct

| =1

]

Options:

1908894365. 1
1908894366. 2
1908894367. 3
1908894368. 4

Question Number : 67 Question Id : 1908891108 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AT AT FUF T AT E
FY - 1. BRI 7 AR & 7@ AW F T2 @ § - FER T3, FAGEN
YT FAEEN T9F TWe
FUF - 11: BRICAT F MR FT T4F e 807 X T F T F6d § F°0
FIATSE AT [0 TMEE Al ¢
IFT FYAT F JAF & Ararorad Geat & ¥ T 3ew/ I
1. U7 13T 12 78 2
2. FYF AR IgEr 7o €
3. FYA 187 ¢. o] FU9 1 HEA £
4. FYF 1 77T 8. =g FI 177 £
Options:
1908894365. 1
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1908894366. 2
1908894367. 3

1908894368. 4

Question Number : 68 Question Id : 1908891109 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which one of the following 1s a wrong statement?
1. Particulate matter of the size 2.5 um (or) less can cause mflammation and damage to the
lungs

b

A lake which 1s rich m organic waste may result in the mortality of fishes due to lack of
oxygen

3. DDT residues are rapidly passed through food chain because 1t 1s water soluble

4. Photochemical smog pollution contain ozone

Options:

1908894369. 1
1908894370. 2
1908894371.3
1908894372. 4

Question Number : 68 Question Id : 1908891109 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

1908894369. 1
1908894370. 2
1908894371. 3

1908894372. 4

Question Number : 69 Question Id : 1908891110 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider the following main reactions in tricarboxylic acid cycle and arrange in order
A. Condensation

B. Dehydrogenation

C. Isomerization

D. Oxidative decarboxylation

E. Substrate level phosphorylation

Choose the correct answer from the options given below:

1. A>C>D>E>B
2. A>B>C>D>E
3. C>A>B>E>D
4. A>D>E>C>B
Options:

1908894373. 1
1908894374. 2
1908894375. 3

1908894376. 4

Question Number : 69 Question Id : 1908891110 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

1908894373. 1
1908894374. 2
1908894375. 3

1908894376. 4

Question Number : 70 Question Id : 1908891111 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following first terrestrial plants possess xylem and phloem and have sporophyte as
a mam plant body?

1. Selaginella
2. Sphagnum
3. Pinus

4. Eucalyptus
Options:

1908894377. 1
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1908894378. 2
1908894379. 3

1908894380. 4

Question Number : 70 Question Id : 1908891111 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
o & & ool o 3 e e 2, S e e ol A F w9
H 9 ;T -
1. foersheen
2. THIAR
3. 9IS
4. TF9ECH

Options:

1908894377. 1
1908894378. 2
1908894379. 3

1908894380. 4

Question Number : 71 Question Id : 1908891112 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A : : ; ; : .th = .
What would happen. if. in a gene encoding a polypeptide of 50 amino acids. 25™ codon UAU 1s
mutated to UAA?

I. Two polypeptides of 24 and 25 amino acids will be formed
2. A polypeptide of 25 amino acids will be formed
3. A polypeptide of 49 amino acids will be formed
4. A polypeptide of 24 amino acids will be formed
Options:
1908894381. 1

1908894382. 2
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1908894383. 3

1908894384. 4

Question Number : 71 Question Id : 1908891112 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
e TF 50 HHEAT UTAT FT GRS FIT F qT AT F 253 FEF (UAU)
FANEAT § I UAA # go 9T T 201 0

| 24397 25 AT 3Fd & 7 Touergs aodl|

). TF 25 HEET 3Fa FT ToeEs a9

3. UF 49 ¥ART 37 FT To9CEEE I

4. TF 24 ¥ HFe T TAICZE T4

Options:

1908894381. 1
1908894382. 2
1908894383. 3
1908894384. 4

Question Number : 72 Question Id : 1908891113 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Characteristic features of living organisms

A. Growth 1s the defining property

B. Metabolism 1s the defining feature

C. Reproduction 1s an inclusive defining characteristic
D. Consciousness 1s the defining property

E. All living organisms are linked to one another by sharing common genetic material

Choose the correct answer from the options given below:

1. A.B&Eonly
2. B.D &E only
3. C.D&Eonly
4. A& Conly
Options:
1908894385. 1
1908894386. 2
1908894387. 3

1908894388. 4

Question Number : 72 Question Id : 1908891113 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

1908894385. 1
1908894386. 2
1908894387. 3

1908894388. 4

Question Number : 73 Question Id : 1908891114 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Allergy 15 an exaggerated immune response towards antigens present in the environment. Which
of the following antibodies are produced in response to these substances?

. IgE

. IgA
IgM
IeG

e faa b —

Options:

1908894389. 1
1908894390. 2
1908894391. 3
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1908894392. 4

Question Number : 73 Question Id : 1908891114 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

AT # IIEAT Teotell Aeal & Tid STeT T Tegeiahor Fgarar & & dear
AT forea Sferelt 1 3cmea forar S g

e Lo b
I
=

Options:

1908894389. 1
1908894390. 2
1908894391. 3
1908894392. 4

Question Number : 74 Question Id : 1908891115 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Even harmful mutations do not get eliminated from the gene pool due to

1. Genetic drift
2. Higher frequency due to dominant nature
3. Being recessive and persisting i heterozygous condition
4. Survival value
Options:
1908894393. 1
1908894394. 2
1908894395. 3

1908894396. 4
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Question Number : 74 Question Id : 1908891115 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AT TIE ¥ g+ 3cuadd off 8 g9 9 £

1. HTaferes fa=res
IHET @ F FROT 3=4 A gfed
. HYATET AT RAEREES FEET A A H

4. HIEEIA AT F FROT

|

taJ

Options:

1908894393. 1
1908894394. 2
1908894395. 3

1908894396. 4

Question Number : 75 Question Id : 1908891116 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a linear chromosome map distances between four loc1 are —a and b= 20 mu: a and d = 6 mu:
b and ¢= 8 mu: a and ¢ = 12 mu. What will be the crossover frequency between ¢ and d?

1 "H:I.-'D
20%
3%

6%

= o b2 =

Options:

1908894397. 1
1908894398. 2
1908894399. 3
1908894400. 4

Question Number : 75 Question Id : 1908891116 Question Type : MCQ Option Shuffling : No Is
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Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T (@ UEE # IR FEyer Fr AAET 5% 36 TE5N 8
addTb=20mu:addT d=6mu: bddqTc=8mu:addTc=12 mu

¢ TAT dF 7y Fafagsa smgfca #ar gnfr 2

1. 12%
2. 20%
3. 3%
4. 6%
Options:

1908894397. 1
1908894398. 2
1908894399. 3

1908894400. 4

Question Number : 76 Question Id : 1908891117 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: In sympatric speciation. gene flow 1s reduced by polyploidy. sexual selection and
habitat differentiation.

Statement I1: Hybrid zones, which produce offspring of mixed ancestry, are the predicted
outcome when species with incomplete reproductive barrier come into contact with one another.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement I and Statement II are correct

2. Both Statement I and Statement I are incorrect

3. Statement I 1s correct but Statement II 15 incorrect
4. Statement I 15 incorrect but Statement II 15 correct

Options:
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1908894401. 1
1908894402. 2
1908894403. 3

1908894404. 4

Question Number : 76 Question Id : 1908891117 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AT A FFRTATE

FIA - |: GAEATAS F(34ad A A TEE g0 oA <9 F4 3=
foeaar ¥ I9d T AT £

FUF - 11: F9w &7 377 T ¢ 7@ B3 @F ot i 53T 309 g g 3
AT anmat 3 et F ol AfE TUE # e F 3w =RE w9 3

3YFS FUAT F HAF & EAtoed awed & ¥ Ta 3o I

. FYF 13X 13T F T8

- FYF 13 3= 3HT £

. FYA 197 g, fheq FU9 13978
4. FYF 1707 8.5 Fu7 177 £

| ]

-2

L W

Options:

1908894401. 1
1908894402. 2
1908894403. 3

1908894404. 4

Question Number : 77 Question Id : 1908891118 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Which of the following DNA 1s used by Agrobacterium tumefaciens to transform normal cells
into a tumor?

. B-DNA
Z-DNA
3. T-DNA
4. A-DNA

Eod

Options:

1908894405. 1
1908894406. 2
1908894407. 3
1908894408. 4

Question Number : 77 Question Id : 1908891118 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

f@F T & ¥ 319 T DNA CRIFIRTH CTHBATH T BT FINFT A TR
ATAIANE?

B-DNA
Z-DNA
T-DNA
A-DNA

o =

o o

Options:

1908894405. 1
1908894406. 2
1908894407. 3

1908894408. 4

Question Number : 78 Question Id : 1908891119 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements

Statement I: Rapid spasms (wild contractions) in muscles due to Ca™ in body fluid is called
gout disease.

Statement II: Muscular dystrophy 1s an auto-immune disorder affecting neuromuscular junction
leading to fatigue, weakening and paralysis of skeletal muscles,

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I 15 correct but Statement II 1s mcorrect
4. Statement I 1s incorrect but Statement II 1s correct
Options:
1908894409, 1
1908894410. 2
1908894411. 3

1908894412. 4

Question Number : 78 Question Id : 1908891119 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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AT FUF RT AT E

FUF - 1. 9frar # &7 g v g # Ca H FA F FROT FAT § FUT ;@
ATEIT T FEATT 2

FUA - [ AEFIeR BEIGT 0F &9 qiawelt W1 & 3 3 9 s &t qenfeq
FT FHAN, GERT TUT Frer ST F FFHT / TS F e @ &

I FUA F Aol # farforaa wedt & & w3t I

| FuF 137 134 T &
. FYF 1A 12& 19T £
3. FYF 197 ¢ g FU9 130T ¢
4. FUF 130T £. g FU7 IFAE
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Options:

1908894409. 1
1908894410. 2
1908894411. 3
1908894412. 4

Question Number : 79 Question Id : 1908891120 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following display female heterogamety?
1. Drosophila melanogaster
2. Apis mellifera
3. Gallus gallus domesticus

4. Periplaneta Americana
Options:
1908894413. 1

1908894414. 2
1908894415. 3
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1908894416. 4

Question Number : 79 Question Id : 1908891120 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

= & @@l @1 Aer AvAgsAs gt ¢ 2
1. Zrafhar FAeaETEe

. U s

. 39" A SATCHA

4. SR HARETET

IJ

L)

Options:

1908894413. 1
1908894414. 2
1908894415. 3
1908894416. 4

Question Number : 80 Question Id : 1908891121 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Which of the following event occurs 1 aerobic respiration?

AP ADP

A Glocose ——U—} Glucose-6-phosphate ——> 3-phosphoglycene acid ——> Phosphoenolpyruvate ——> Pyruvic 1ad

. Mg*
Pyruvic acid + COA+ NAD" > Acetyl COA~CO,+NADH~H"
Pyruvate dehydrogenase

NAD™ NADH-H-

LT

C Ghicose —> Glyceraldelyde-3-phosphate =———=——> Phosphoenol pyrwvic acid ———> Pyruvic acid

o Mitochondrial Matrix
Pyruvic acid + {NAD~ = FAD" + 2H,0 + ADP = Pi > 3CO,+ INADH = 4H- + FADH, + ATP

D

o Mitochondrial Matrix )
; Pyruvic acid - COA + NAD™ > Acetyl COA+CO,+NADH +H

Choose the correct answer from the options given below:
1. B.D &E only

2. B.C&Donly

3. B&Donly

4. B&E only
Options:
1908894417. 1
1908894418. 2
1908894419. 3

1908894420. 4

Question Number : 80 Question Id : 1908891121 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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T Ay 9 T g g

RIF ALF

AlP ALF
) TR T TR 3. GROE o, R e, T

s
QIGR{da 31T + COA+ NAD* —5 . UYICTSd COA+ CO, + NADH +H’

B
NAD* NADH+H®

¢ O HW’G’E@-S-W-\—{ BRPISIAURE A 3R —> UREdP

bl o b
. URRSTdd 3% + 4NAD* + FAD® + 2H,0 + ADP + Pi >3C0, + 4NADH + 4H* + FADH, + ATP

ARCIST AR
¢ UTGRId® 3K + COA + NAD' > THICIST COA +CO,+ NADH + H*

AT fw v fawedt A § QY IR T4
I. %ad B.D 3R E
2. ¥ B.CHR D
3. @ BAR D
4 Fad BARE

Options:

1908894417. 1
1908894418. 2
1908894419. 3

1908894420. 4

Question Number : 81 Question Id : 1908891122 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Consider the following statements with respect to food chain.
A. Removal of 80% tigers from an area resulted i mcreased growth of vegetation.

B. Removal of most of the carnivores resulted in an mncreased population of deers.

C. The length of food chain 1s generally limited to 3-4 trophic levels due to energy loss.

D. The length of food chains may vary from 2-8 trophic levels.

Choose the correct answer from the options given below:

1. A.D
2. AB
3. B,€
4 C.D

Options:

1908894421. 1

1908894422. 2

1908894423. 3

1908894424. 4

Question Number : 81 Question Id : 1908891122 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ted 4T % F7 7 [@F 7 a=ar & ¥ T FUAr F T F

A frEr 87 ¥ 80% 99 gT T IATIAAT FT TUF g 2

B. Hfl ATWERT ¥ 3T« ¥ fgeom v wear 92 S B

C. 5 310 ¥ AR HUFR T 4@l 3 -4 99F T/ & & £
D. WET Qe 2 - 8 YT FAX #¥ & Fhall ¢

A foT av Reedt 7 § §Er 3o} g

. &g AHR D
. FIJTAIR B
3. I BAN C
4, %90 CHR D
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Options:

1908894421. 1
1908894422. 2
1908894423. 3

1908894424. 4

Question Number : 82 Question Id : 1908891123 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements

Statement I: Use of readymade antibodies to protect the body agamst foreign agents 1s principal
characteristics of passive immunity,

Statement II: Abundant IgA antibodies i colostrum protect the infant’s body through active
mmunity.

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement I are correct
Both Statement I and Statement II are incorrect
Statement I 15 correct but Statement II 15 incorrect
Statement I 15 incorrect but Statement II 15 correct

= Lo b2 —

Options:

1908894425. 1
1908894426. 2
1908894427. 3

1908894428. 4

Question Number : 82 Question Id : 1908891123 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Av A FEF RTATE

FUF - [ 9gd § 9 Sfafer & Jaer § {7 T 9T Je@r ¥ I8 F1 @5y
STeRET F1 T &0 £

FUF - 11 FIOECH (T2 § FoR F T9UF AT & Faal ¥ Tad ged) & 390U
gfael % 1A BT 9fewer & T2+ ¢

IYFT FUA F HAF # ey awedr & ¥ T o) I
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. FYA 197 ¢ e F9F 130
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Options:

1908894425. 1
1908894426. 2
1908894427. 3
1908894428. 4

Question Number : 83 Question Id : 1908891124 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What percentage of photosynthetically active radiation 1s captured by plants?

1. 2-10%
2. 50%
3. 100%
4. 1-2%
Options:
1908894429. 1
1908894430. 2
1908894431. 3

1908894432. 4
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Question Number : 83 Question Id : 1908891124 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T FEONOiT wiRT fafmor &1 e smr ot gamr 7gor foRar e g

1. 2-10%
2. 50%

3. 100%
4

1-2%

Options:

1908894429. 1
1908894430. 2
1908894431. 3

1908894432. 4

Question Number : 84 Question Id : 1908891125 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s wrong with respect to ‘biomolecules’?

A. Cellulose and starch can hold I due to formation of helical secondary structures

B. Proteins transport nutrient across cell membrane and fight infectious organisms

C. At high temperature enzymes get damaged while inorganic catalysts work efficiently

D. In animal tissue, different drugs. pigments, essential o1l, magnesium. O; compounds are
noticed

E. DNA and RNA have three chenucally distinct components - heterocyclic. monosaccharaides
and phosphate

Choose the correct answer from the options given below:

. D&E only
2. A&Donly
. A.B&D only
4. B.E&Conly

r—

LN}

Options:
1908894433. 1

1908894434, 2
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1908894435. 3

1908894436. 4

Question Number : 84 Question Id : 1908891125 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

HATHUA F FH R AT qWTE

A T T TN HAER 1 s Foihe ST a9 F FROT G
T &l

B. Fiaw G190 I HINH Breal & TRAEA, W A& F g H

C. 39 AR W UaeR A7 & I & Faf% sFnfas 303 $f Fewa @
Eicif]

D. 910l Tt # BN ToR F %, ¥920F I, HATATH JUT HFHa decd
I A 2

E.DNA FJT RNA ¥ 3 T8 & ¥ fae o - Avaeafsny. Aasss. vreee
g £

A for e et # & @ S T
. $IT DA E
2. 9 AR D

. %9 A BHR D

4. $9d B.EHR C

[ %]

Options:

1908894433. 1
1908894434. 2
1908894435. 3
1908894436. 4

Question Number : 85 Question Id : 1908891126 Question Type : MCQ Option Shuffling : No Is
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Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



To withstand the extreme dehydration many mvertebrates enter a state known as anhydrobiosis.
Which of the following compatible osmolytes accumulate to relatively high levels and protect
the organisms agamst desiccation damage?

Ketoses

Trehalose
Raffinose
Stachyose

o el g

Options:

1908894437. 1
1908894438. 2
1908894439. 3
1908894440. 4

Question Number : 85 Question Id : 1908891126 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

HeaTos fAseer & 99 §q % FFIHT ST TAFTESaTaed (anhaydrobiosis)
Wﬁﬂﬂ'mgl /& ¥ FiF 31 ANuAEEe (Dsnml}’tcs)m T & =T
AEN A A1 ST € SRR S A A ¥ a9 §F 0

1. g

ELirs
3. ThAE

4, FEHAH

2

Options:

1908894437. 1
1908894438. 2
1908894439. 3
1908894440. 4

Question Number : 86 Question Id : 1908891127 Question Type : MCQ Option Shuffling : No Is
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Correct Marks : 4 Wrong Marks : 1

Match List I with List II

List I List II
A. Nitrification 1. Azotobacter
B. Denitrification 11. Nitrotobacter

C. Free living nitrogen fixation [III. Rhizobium

D. Symbiotic nitrogen fixation [IV. Pseudomonas

Choose the correct answer from the options given below:

1. A-III.B-IV,C-II.D -1

2. A-II.B-1L.C-IV.D-1II

3. A-II.B-IV.C-1LD-1II

4. A-IV.B-II.C-III.D -1
Options:

1908894441. 1
1908894442, 2
1908894443. 3

1908894444, 4

Question Number : 86 Question Id : 1908891127 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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T - -1
A, ATSEITRR A 1. OFEFeT
B. RarEdifherea 11 ATSTIEFeT
C. HFd - Srar Asgiaa qifrhraToT 1. TSATGTH
D. Hg=Tar Agaraial giferhreror IV. FIEAATH
A foT 71T AFeat ¥ ¥ WEr 3o} AT

1. A-ILLB-IV,C-I,D-1

2. A-HB-LC-TVD-T

3. A-ILB-IV,C-1,D-II

4. A-IV,B-I,C-II,D-1I
Options:

1908894441. 1
1908894442. 2
1908894443. 3

1908894444, 4

Question Number : 87 Question Id : 1908891128 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a particular chromosome. the recombination frequency between genesa & cis 5%: b & ¢ 1s
15%:b & d1s 9%: a & bis 20%: ¢ & d1s 24% and a & d 15 29%. The sequence of genes i a
chromosome 1s

1. a.db.c
2. d.b.a.c
3. a.b.ec.d
4, acb.d
Options:

1908894445, 1
1908894446. 2

1908894447. 3
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1908894448. 4

Question Number : 87 Question Id : 1908891128 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T% TUMEE T AT a. b, c. d F TREANF FATT 3o a T4 ¢ 5%: b AT ¢ 15%: b
TUT d 9%: a AT b20%: ¢ TUT d 24% TUT 2 AT d 20%. € A & At F7 I W FA
feret g

a.d.b.c
d.b.a.c
3. abecd
4. a.cb.d

ol ==t

Options:

1908894445. 1
1908894446. 2
1908894447. 3
1908894448. 4

Question Number : 88 Question Id : 1908891129 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following 1s the sequence of mRNA transcribed from the below DNA?
3" -ATCCCAGGTACCAT - ¥

'-UAGGGUCCAUGGUA - §

'~ UAGGGUCCAUGGUA - ¥

'—-TAGGGTCCATGGTA - §°
5’ - TAGGGTCCATGGTA - 3’

e Lo b
a0 o Ln

Options:
19088944489. 1
1908894450. 2
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1908894451. 3

1908894452. 4

Question Number : 88 Question Id : 1908891129 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 DNA ¥ HF@d mRNA ST FT TTT FY

3> - ATCCCAGGTACCAT - 5’

1. 3’ -UAGGGUCCAUGGUA - ¥

2. 5-UAGGGUCCAUGGUA - 3’

3. 3’ -TAGGGTCCATGGTA - ¥

4. 5 —-TAGGGTCCATGGTA - 3
Options:

1908894449. 1
1908894450. 2
1908894451. 3

1908894452. 4

Question Number : 89 Question Id : 1908891130 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

What will happen to the population of two forms of Biston betularia (peppered moth) mhabiting
the region polluted due to emission of soot from industries?

A. Population of dark colored moth will increase

B. Population of both the forms will decrease

C. Population of light colored moth will increase

D. Population of dark colored moth will increase while population of light colored moth will
decrease

E. Population of both the forms will increase

Choose the correct answer from the options given below:

I. A&Donly
2. C.D&E only
3. C&Donly
4. B.C &D only
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Options:

1908894453. 1
1908894454, 2
1908894455. 3

1908894456. 4

Question Number : 89 Question Id : 1908891130 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

farea fagafan (e AM) & o TR W AT G901 U F F1 TH I8

A TR T & AT T TEAT &M

B. 21 YRI F AT F FEAT e

C.Zo% T & ATY H g&ar gea

D. 7Y T & A $ Ha1fe a¢f Fafe goeh T 1 geal
E.2I T9R & A1y $ & aet

A fer av faedt & ¥ W 3o T

. $Ia7 AR D
). %90 C.DARE
3. FFT CHR D
4, 99 B.CHT D

Options:

1908894453. 1
1908894454. 2
1908894455. 3

1908894456. 4
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Question Number : 90 Question Id : 1908891131 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Competition for light. nutrients and space 1s most severe between

Closely related organisms growing in the same niche
Closely related organisms growing in the different niche
Distantly related organisms growing in the same habatat
Distantly related organisms growing in the different niches

I =

ol

Options:

1908894457. 1

1908894458. 2

1908894459. 3

1908894460. 4

Question Number : 90 Question Id : 1908891131 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

GTY GEF Fecal AU TIH F O Taw T T e F mew g
1.

5

3
J.

4.

UF T8¢ ¥ §afUd S9 U & H&W A

. UF g ¥ gafd 9 Afdes et &

TF g8 ¥ HEE(Od A9 U g 3aw &
TF g ¥ yueafaq ST fafde smerd #

Options:

1908894457. 1

1908894458. 2

1908894459. 3

1908894460. 4

Question Number : 91 Question Id : 1908891132 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: In photosynthesis. the membrane system 15 responsible for the synthesis of ATP
and NADH 1n carbon reaction.

Statement II: In photosynthesis. enzymatic reactions synthesize sugar and which in turn form
starch. These reactions are driven by light.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement I and Statement II are correct

Both Statement I and Statement II are incorrect

L b2

. Statement I 1s correct but Statement II 1 incorrect

4. Statement I 1s incorrect but Statement IT 1s correct

Options:

1908894461. 1
1908894462. 2
1908894463. 3
1908894464. 4

Question Number : 91 Question Id : 1908891132 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AU g FF T AT E
FYT - 1 TH JOGUT F1a 3ar # Broer 7 ATP. NADPH & HeW0T ¥ el
gl

FUT - 11 T TG0 ¥ TR a7 9T 7 TAw0T F3ar &) e wer a7 ar
¢ Jur 77 TRamT g @ @Y G W gt g

TFT FUA F A F AT GHew # ¥ T oW I
. FUF [HT 13 T 8

. FYF 1AR 13 7o £

. FYA 187 ¢ g U9 13078

L | B —_

o

. FUF 1 ¥0T 8. e FU7 187 £

Options:
1908894461. 1
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1908894462. 2
1908894463. 3

1908894464. 4

Question Number : 92 Question Id : 1908891133 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

While studying the population of rat in a warehouse. you found that average natality was 250.
average mortality was 240, immigration was 20 and emigration was 30. What will be the net
merease in rat population?

R
2. Zero
3. 10
4. 5§
Options:
1908894465. 1
1908894466. 2
1908894467. 3

1908894468. 4

Question Number : 92 Question Id : 1908891133 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fordlr Tiere & @ 6 T F HYIT T I99 HWT FH T 250, W {eg A
240, ¥TTAS 20 FAT TR 30 IAT| 3F HOIIA # g 1 TN A F fohefat € IS
g

15
&
10

5

= e bt e

Options:

1908894465. 1
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1908894466. 2
1908894467. 3

1908894468. 4

Question Number : 93 Question Id : 1908891134 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Genetic drift operates in
Small 1solated population
Fast reproductive population

Large 1solated population
Slow reproductive population

da o b =

Options:

1908894469. 1
1908894470. 2
1908894471. 3

1908894472. 4

Question Number : 93 Question Id : 1908891134 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ha faaea foed W F1T F1ar €

[e—

. ORI JUFT FAHEIT

. JE § 9944 F4! FAEEDT H
. J31 qUFd FAEE

4. 1A 9944 T FAEEAT H

| ]

LY

Options:

1908894469. 1
1908894470. 2
1908894471.3
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1908894472. 4

Question Number : 94 Question Id : 1908891135 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Vernalisation

A. Enables the plant to have sufficient time to reach maturity

B. Depends not only on a combination of light but also their relative duration

C. Prevents precoctous reproductive development late 1n the growing season

D. Refers specially to the promotion of flowering by a period of low temperature
E. Phenomenon occurs by changing light and temperature

Choose the correct answer from the options given below:

1. A.C&Eonly
2. A.C.D&E only
A.B.C &D only
4. A.C&Donly

Lo

Options:

1908894473. 1
1908894474. 2
1908894475. 3

1908894476. 4

Question Number : 94 Question Id : 1908891135 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A great F FFET @9 F1 93 5T a1 B

B.d Faa GHIY F HAA dfod FHIAETS 9T ff e &)
C.9tat T 91¢ F IUF F THT T4 [GFF H AFAT £
D. 39w &7 ¥ foe A= @ oo R # T 2
E. UTATHRHA T TUT d9AT dod § 2T gl

A T ar Reear & §ér 3oaT 9+

1. 9 A.CHR E
Fdof A.C.DIR E
%9l A.B.C3IHT D
Fad A.CIHT D

| o)

= W

Options:

1908894473. 1
1908894474. 2
1908894475. 3
1908894476. 4

Question Number : 95 Question Id : 1908891136 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

At a particular locus, frequency of “A” allele 15 0.6 and that of “a” 1s 0.4. What would be the
frequency of heterozygotes in a random mating population at equilibrium?

0.36
0.16
0.24
0.48

s faa D

Options:
1908894477. 1
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190889447/8. 2
1908894479. 3

1908894480. 4

Question Number : 95 Question Id : 1908891136 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T% T T T Tellel "3 Hfed 0.6 T Toler T ¥ 3gfed 0471 5l
FARET F W # & W R T FIal FA0edn # {Agers 1 Hgfed
1 g 0

0.36
0.16
0.24
0.48

e o g

Options:

1908894477. 1
1908894478. 2
1908894479. 3

1908894480. 4

Question Number : 96 Question Id : 1908891137 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List I with List II

List I List I1

A. Bilaterally symmetrical. triploblastic. acoelomate animal with flame
cells

I. Limulus

B. Bilaterally symmetrical animal with calcareous shell and mantle cavity [II. Pleurobrachia

C. Radially symmetrical animal with ciliated comb plates and exclusively |1 Fasciola
marine hepatica

D. Bilaterally symmetrical. triploblastic. coelomate antmals with chitinous

IV. Dentalium
exoskeleton

Choose the correct answer from the options given below:

1. A-ILB-IV.C-III.D-II

2. A-IV.B-IL.C-ILD-I

3. A-IILB-IV.C-IL.D-I

4 A-NML.B-IV.C-LD-II
Options:

1908894481. 1
1908894482. 2
1908894483. 3

1908894484. 4

Question Number : 96 Question Id : 1908891137 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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T -IFEE -1 § gAfT AT

T o
A. gfaumea wafafe. Bead. sepes smof Far e

TolH I od ®
g.qﬁma‘ gafAE. St Ferlaw Fa Far S——
IW?IET 2

C. ThIT FATATA JI0. TeATfAT Fff Ioa coe |11 ST
aur f3IvwT ¥ A frafesr

D. gfaumed wafafa. fradm. wfew woft Far
FISEAT AET FHA Hd

A T a1v owedt & ¥ w9 3R gv

1. A-IILB-IV.C-III.D-1I
2. A-IV.B-II.C-II.D-1
3

4. A-III.B-IV.C

Options:

1908894481. 1
1908894482. 2
1908894483. 3

1908894484. 4

Question Number : 97 Question Id : 1908891138 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The eye of octopus and eye of dog show different structural patterns. yet they perform similar
functions. This 1s an example of

1. Analogous organs that have evolved due to divergent evolution

2. Homologous organs that have evolved due to convergent evolution
3. Homologous organs that have evolved due to adaptive radiation

4. Analogous organs that have evolved due to convergent evolution

[ ]
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Options:

1908894485. 1
1908894486. 2
1908894487. 3

1908894488. 4

Question Number : 97 Question Id : 1908891138 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

HIHEITH TUT Fed $1 HG et T el § T 3 FA F14 F € ¢
3ETET0T &

[—

. WA 3 S 39w 79 # e g

. FAea 3 e st o g 2

. FHAT 3 e e el 0T ¥ F g3
4. WHIfed 3T T faFm HAET F9 & g3 ¢

2

LN

Options:

1908894485. 1
1908894486. 2
1908894487. 3

1908894488. 4

Question Number : 98 Question Id : 1908891139 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements
Statement I: On the basis of their chemical nature, hormones can be divided nto group.

1. Peptide. Polypeptide. protein hormones
1. Steroids
. Jodothyromines
iv.  Amino acid dervates

Statement II: Underproduction of hormones by adrenal cortex alters carbohydrate metabolism
causing acute weakness and fatigue leading to disease called diabetes mellitus.

In light of the above statements, choose the most appropriate answer from the options given
below

. Both Statement I and Statement I are correct

. Both Statement I and Statement II are incorrect
3. Statement I 15 correct but Statement II 1s incorrect
4. Statement I 15 incorrect but Statement II 15 correct

Options:

1908894489. 1
1908894490. 2
1908894491. 3
1908894492. 4

Question Number : 98 Question Id : 1908891139 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A FUF RTATE

FIF - 1: THARF 0T F YR R FAE F @7 7 F FFa 1 51 §Far
g

1, YTTEE, qTelriceTss, St FTdfa

ii, FERTIE

i, HTESTATRIATSAY

v, ¥HEEAT - FF HA

FUF - 11 U3 FIEFH IR FH FRA 309 w0 § FEEEse 3999d TR0
g § foed 3e0d FRAN. o 2 ¥ Sady Aemgew A T & £

39UFT FUA  Held & faeaforad owedt # ¥ T e 9
. FYF [ AT 13T T £
. FYF [HT 13&r 799 ¢

. FYF 197 ¢ e FU 0 HTT 8

[o—

|

L

4. FYT 13787 ¢ g FUa 1FTE

Options:

1908894489. 1
1908894490. 2
1908894491. 3
1908894492. 4

Question Number : 99 Question Id : 1908891140 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Steps involved in catalytic cycle of enzyme action

A. Release of products of the reaction

B. Binding of substrate to the active site of enzyme
C. Formation of enzyme substrate complex

D. Alteration 1n the shape of enzyme

E. Enzyme free to bind another molecule of substrate

Choose the correct answer from the options given below:

1. B>C>D>A>E

2. B>D>C>A>E

3. B>D>A>E>C

4. B>E>D>C>A
Options:

1908894493. 1
1908894494, 2
1908894495. 3
1908894496. 4

Question Number : 99 Question Id : 1908891140 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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grre I o AU Fom A R o 39 8 2

A a1 7 30918 &1 T

B. 9Th0g $I TlHT TAH 9T FIHCE T FTAOH
C.9f%UT - HaFT THE FT a1

D. gfrvg & 3pfa & JEaT

E. 909 BaRH F 3T A ¥ JU9 &g Fad-F & a1 &

A QU v Feedt # ® Wl 3o} g

IJ!—‘
wellveRve o

=

Options:

1908894493. 1
1908894494, 2
1908894495. 3

1908894496. 4

Question Number : 100 Question Id : 1908891141 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Which one of the following combination 1s correct 1n relation to ‘natural selection’?

A. Individuals with inhented traits that are best suited to the local environment

B. Over many generations. a higher proportion of individuals in a population will have the
advantageous traits

C. Individuals in a population vary in their traits

D. Competition 15 inevitable

E. Evolution occurs as the unequal reproductive success of individuals adapt the population to its
environment

Choose the correct answer from the options given below:

1. B.C&Donly

2. A B.C&D only

3. C.D&E only

4 A.B.C.D&E only

Options:

1908894497. 1
1908894498. 2
1908894499. 3

1908894500. 4

Question Number : 100 Question Id : 1908891141 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Tids T4 F FA # @77 @ E

A S & T % o weiftE werw o i qamfe g g

B. 3% HAAl F TG FAREH & 8 AW F &l # a0+ q07 300 &

C. FAHEI # AT T &9 # & 707 4R07 7§ §

D. HOY J9TTHET

E. S48 # THal A&l $ HTAA THad Fhoa] TAGEI H TR0 H HHea

A WEE §
A T v foswedt # ¥ W@ 3R I

l. ®3af B.CHR D
2. 99 A.B.CHR D
3. a9 C.DHNE
4. AAB.C.DARE

Options:

1908894497. 1
1908894498. 2
1908894499. 3
1908894500. 4

Part C Chemistry

Section Id :

Section Number :

Section type:

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

19088935
3

Online
Mandatory
50

50

200
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Enable Mark as Answered Mark for Review and

Yes
Clear Response :
Sub-Section Number : 1
Sub-Section Id : 19088961
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 1908891142 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The monomeric units used in the synthesis of Dacron are:

1. Melamine and formaldehyde

2. Ethylene glycol and phthalic acid

3. Ethylene glycol and terephthalic acid

4. Hexamethylenediamine and adipic acid
Options:

1908894501. 1
1908894502. 2
1908894503. 3
1908894504. 4

Question Number : 101 Question Id : 1908891142 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

SHiT F HAYUT H Tholsh SHISAT &laT 8 -

1. FHAT 3T wrAfesgEs
. UTe TS Ho AT AT &
. of e TeESa HT SwdfeE aEa

4. FFOHTITAASEUAR AT A0S HFEd

Options:

[

fas

1908894501. 1
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1908894502. 2
1908894503. 3

1908894504. 4

Question Number : 102 Question Id : 1908891143 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements
Statement I: Aspartame 1s a methyl ester formed from aspartic acid and alanine.

Statement II: Use of aspartame 15 limited to cold foods and soft drinks because it 1s unstable at
cooking temperatures,

In light of the above statements. choose the correct answer from the options given below

Both Statement I and Statement II are true
Both Statement I and Statement II are false
Statement I 1s true but Statement I 1s false
Statement I 1s false but Statement II 1s true

e it bl —

Options:

1908894505. 1
1908894506. 2
1908894507. 3
1908894508. 4

Question Number : 102 Question Id : 1908891143 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

1908894505. 1
1908894506. 2
1908894507. 3
1908894508. 4

Question Number : 103 Question Id : 1908891144 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider the following reaction:

1eq. CH4,OH / Dry HCI
CH3CH;CIZHCHO - A

CH,

The number of chiral carbon(s) in product A 1s:

o b
b b = O

o

Options:
1908894509. 1

1908894510. 2
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1908894511. 3

1908894512. 4

Question Number : 103 Question Id : 1908891144 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ffafaa & o5 3R 7

1 eq. CH,OH / Dry HCI
CH3CH2CHCHO A

CHj

3G 'A' H FIEIA Fleed HT TE&AT §

1. 0
2 2
3 2
4. 3
Options:

1908894509. 1
1908894510. 2
1908894511. 3

1908894512. 4

Question Number : 104 Question Id : 1908891145 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the given reaction. the hybridization of carbon bonded to oxygen changes from:

®

= .
HaC CH3 + CN —» HC CH3
2 3
1. sp™tosp
2
2. sptosp”
7
3. sp”tosp
1 7
4. sp tosp”
Options:
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1908894513. 1
1908894514. 2
1908894515. 3

1908894516. 4

Question Number : 104 Question Id : 1908891145 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
&r 5 HRTRAT A HFAISTT F F3 FreeT FT FHOT IRAfdd gier ¢

H@

=
HaC CHy + CN — HaC CHa
: /\TC!/\ : m
1. spz'\ef sp3
spﬂ'spj
sp:'\efsp
4. spg'ﬁapl

| )

Lo

Options:

1908894513. 1
1908894514. 2
1908894515. 3

1908894516. 4

Question Number : 105 Question Id : 1908891146 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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An alkene ‘A’ on ozonolysis gives a mixture of 1 mole of glyoxal and 2 moles of cyclohexanone
VAT IS

O
[ H H
<:>:C-CHO

. .

M
@—c—cao

Hy
(o

Options:

4.

1908894517. 1
1908894518. 2
1908894519. 3
1908894520. 4

Question Number : 105 Question Id : 1908891146 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AT W v tfodad 'A' | AT TR 3R 2 AT AEFaeFdard &
fRsor SaTgl A’ Bl

<)
: H H

H

H;
) Boo

Hz

Options:

fa—

| B

4.

1908894517. 1

1908894518. 2
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1908894519. 3

1908894520. 4

Question Number : 106 Question Id : 1908891147 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Dihedral angle between the hydroxyl and amino groups of the most stable conformation in
2-aminoethanol 1s:

DD
60°
180°
120°

I-..JI—"

=

Options:

1908894521. 1
1908894522. 2
1908894523. 3
1908894524. 4

Question Number : 106 Question Id : 1908891147 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

L-UTRATIATS F Fa@ TR FIE T # FeNoma AT OfRar woggh % 9=
Ziade HI0T ¢

OD
60°
180°
120°

s b =

.

Options:

1908894521. 1
1908894522. 2
1908894523. 3

1908894524. 4
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Question Number : 107 Question Id : 1908891148 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For, a - column chromatography: b - paper chromatography and ¢ - thin layer chromatography.
which of the options is type of partition chromatography?

a and b only
b and ¢ only
b only
¢ only

e Lo b

Options:

1908894525. 1
1908894526. 2
1908894527. 3
1908894528. 4

Question Number : 107 Question Id : 1908891148 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
a- HITH JUTTEA: b- FETS JUIIE: c- Tdoll Id JUToI@

Fia T g FaTor IuvoEa FIFR &

1. &dol a3 b
2. gl bAR ¢
3. FAA b
4. FIA ¢

Options:

1908894525. 1
1908894526. 2
1908894527. 3
1908894528. 4
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Question Number : 108 Question Id : 1908891149 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Select the correct option for number of sigma and p1 bonds respectively in the given organic
compound:

CN
CiH2C ;

CHO

15 sigma and 6 p1 bonds
18 sigma and 6 p1 bonds
18 sigma and 3 p1 bonds
15 sigma and 3 p1 bonds

= o b ==

Options:

1908894529. 1
1908894530. 2
1908894531. 3

1908894532. 4

Question Number : 108 Question Id : 1908891149 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e v Fefas AT § e B 3R o8 eyt & g & v @ e
T

CN
CiH2C ;

CHO

1. 15 7 3R 6 Ui ey
18 Bear 3R 6 U ey
3. 18 v 3R 3 9% ey
4. 15 @ AR 3918 ey

Options:
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1908894529. 1
1908894530. 2
1908894531. 3

1908894532. 4

Question Number : 109 Question Id : 1908891150 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider the structure of the nucleoside given below:

d
NH2

trf‘-}N

N ’J*o

HO._ .

o)
b ah

HO OH

The attachment of phosphoric acid to which of the labeled position would lead to the formation
of a nucleotide?

a and b only
¢ only
3. donly
4. eonly

b

Options:

1908894533. 1
1908894534, 2
1908894535. 3
1908894536. 4

Question Number : 109 Question Id : 1908891150 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A & TS FYFdrETEs N HET A

d
NH>

uﬁ“
N’l“o
HO_ .
O
h I |

HO OH

BERIRE 37 & fFE dad f1 R @ J39 & _YfFoierss # o gem

1. dad aHR b

2. Fad ¢

3. &ad d

4. Had e
Options:
1908894533. 1
1908894534, 2
1908894535. 3

1908894536. 4

Question Number : 110 Question Id : 1908891151 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Select the FALSE statement for ‘Valine'.

1. It has an i1sopropyl group as a side chain.
2. It exists as dipolar 10n in water.
3. Itis a non-essential amino acid.
4. It 1s an optically active compound.
Options:
1908894537. 1
1908894538. 2
1908894539. 3

1908894540. 4
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Question Number : 110 Question Id : 1908891151 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
I F T Toa FAT TIA ¢

1. EHHI 99T HT@T H HTHEYUITAT THE &
2. IF I A EYT JAS F T H TEAT £
3. Ug UF JASTF UTHAT JHFT g

4. I TH 1w Thrg Jifaes g

Options:

1908894537. 1
1908894538. 2
1908894539. 3
1908894540. 4

Question Number : 111 Question Id : 1908891152 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one 1s labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A: Acetic acid 1s more acidic than phenol.
Reason R: Acetate 1on 1s more stable than phenoxide ion.

In light of the above statements, choose the most appropriate answer from the options given
below

Both A and R are correct and R 15 the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A 1s correct but R 15 not correct

A 15 not correct but R 1s correct

= o o =

Options:
1908894541. 1
1908894542 2
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1908894543. 3

1908894544. 4

Question Number : 111 Question Id : 1908891152 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AT o FYA U AT § : 0F & JhFUA (A) 3R @ F & (R) FT A 2
HHFYA (A) : URART 37 fhedler & Smer 3%elY &

a& (R): TR 3 Rheliaurss 3maaT &1 0em Samer €T g B

IRFT FYA F el 7 frifed fFaedt # & 7 3ew T

A) 3R (R) 3= TEr & 3R (R). (A) T TEr =arET Bl

A) AR (R) 2 TET & W (R). (A) FT TG AT AT g
A) Wl § W (R) WET 76T &

4. (A)WE TG § Weq (R) TWET &

Options:

—

| )

.
-
-

L

1908894541. 1
1908894542. 2
1908894543. 3

1908894544. 4

Question Number : 112 Question Id : 1908891153 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List I with List IT

List I List IT
Structural Formula Name
| OH
@/OH I. Catechol
A.
OH
@ II. Resorcinol
B OH
OH
@\ III. Hydroquinone
C. OH
OH
@a‘h IV. 0-Cresol
D.

Choose the correct answer from the options given below:

1. A-L B-III. C-II. D-IV

2. A-IIL B-1. C-I1. D-IV

3. A-IL B-I. C-IV. D-II

4. A-L B-III. C-IV. D-II
Options:

1908894545. 1
1908894546. 2
1908894547. 3

1908894548. 4

Question Number : 112 Question Id : 1908891153 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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gl -1 F AT -1 /@ gAfAT A

List I List IT
WIATCHS T ATH
| OH
@/OH L e
A.
OH
@ I1. RaRAaTe
B. OH
OH
@\ 111. gTSsiiadeireT
IC. OH
IV. o-TopATS

OH
o8
D.

A fqu av fasedt & & F@Er IcR gfAv

1. A-L B-III, C-II. D-IV
2. Al B-I. C-II. D-IV
3. A-II B-1. C-IV. D-II
4. A-L B-III. C-IV. D-II

Options:

1908894545. 1
1908894546. 2
1908894547. 3
1908894548. 4

Question Number : 113 Question Id : 1908891154 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Which of the following haloalkane has least reactivity with aqueous KOH?

Cl
1 f#““affl“x
- MC'
- |
3 xf“\vfj“a
Br
Options:

1908894549. 1
1908894550. 2
1908894551. 3
1908894552. 4

Question Number : 113 Question Id : 1908891154 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
frfafaa geitedal # & fFadr foranfiear g KOH® @698 F7 ¢ 2

Cl
1 /’\/l\\
. MC'
.8 |
Br
Options:

1908894549. 1
1908894550. 2
1908894551. 3

1908894552. 4
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Question Number : 114 Question Id : 1908891155 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The total number of chiral carbons/centers in B-D-ribose are:

1. Three
2. Four
3. Five
4. Two
Options:

1908894553, 1
1908894554, 2
1908894555, 3

1908894556. 4

Question Number : 114 Question Id : 1908891155 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

B-D-IZEH A Fel FISTA FIaall/dhol T &A1 B

faJ

FTE

4.
Options:
1908894553. 1
1908894554. 2
1908894555. 3

1908894556. 4

Question Number : 115 Question Id : 1908891156 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The correct option for the structures of acrolein and peroxyacetylnitrate are respectively:

—_—

CH>=CHCHO and CH;COONO;
HgC"[i?_ CDNOZ
CH,=CHCHO and 0
(CH;CH,CHO and CH3;COONO»
HyC-C-00NO,
CH;CH,CHO and 0

fad bt

Options:

1908894557. 1
1908894558. 2
1908894559. 3

1908894560. 4

Question Number : 115 Question Id : 1908891156 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Tt 3R WiFaUHiedarsee i Taa & fov Fawr: a8 faFves 1 94 -

[—
.

CH,=CHCHO and CH3COONO;

HaC—C-OONO,

CH,=CHCHO O
3 3R

CH;CH>CHO 3 CH3COONO;
H;C-C-00NO;

4. CH;CH,CHO 3R 0

|

I‘_J_,

Options:

1908894557. 1
1908894558. 2
1908894559. 3
1908894560. 4

Question Number : 116 Question Id : 1908891157 Question Type : MCQ Option Shuffling : No
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Correct Marks : 4 Wrong Marks : 1

Consider the following reaction:

NH NH NH, NH.,
HNO; + H.SO, NO;
_ ey “* T
15%C NO,
NO,
(51%) (47%) (2%)

Significant amount of meta-1somer forms because:

1. —NH; group is ortho-, para- and meta-director.

2. Anilintum ions are formed during the reaction.

3. There 1s less stearic hindrance at meta-position.

4. Low temperature mcreases the amount of meta-1somer.

Options:

1908894561. 1
1908894562. 2
1908894563. 3
1908894564. 4

Question Number : 116 Question Id : 1908891157 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

IGLEICIECEECIEIE T e

NH NH 3 NH NH.
HNO, + H,SO, NO;
_ - + -
15°C NO.
NO.
(51%) (47%) (2%)

HACT-HATGIT & Agcaqul AT FAd! g. FAP

1. -NH, §Hg 3mdf - 87 3R Aer el a9
HfAfFar & e vRfaf@ETs e sa9a £
Aor-Feufa 7 =Rs arer 7 g 81
FH A9 AST-ATGIT & ATET deraT gl

[ ]
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Options:

1908894561. 1
1908894562. 2
1908894563. 3

1908894564. 4

Question Number : 117 Question Id : 1908891158 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the given reactions will yield amine as a product with less number of carbon than the

reactant?
~ P
Chrvr
thanol
A
0
B 2. H,0
0
T Br, + NaOH
@—c-rm: 2 i
i
@—c;u Ha/ Ni =
D.

A only
B and C only
C and D only

C only

e o B

Options:

1908894565. 1
1908894566. 2
1908894567. 3

1908894568. 4

Question Number : 117 Question Id

: 1908891158 Question Type : MCQ Option Shuffling : No

-
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Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

frfafad & 75 it 7 e 3R 7 3fers i 39T 7 Fea

UHA 9IS 9o &1 7
Q—HG: :t:hfpdl %
;L ano
0
O o
B. g
0
@E—”H: BT: * HEGH i
@
0 G
@E—HH; Bp+ NaOH
D.
. &del A
). FaT BIHR C
3, FAACIR D
4, &gel C
Options:

1908894565. 1
1908894566. 2
1908894567. 3

1908894568. 4

Question Number : 118 Question Id : 1908891159 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements

Statement I: 1¥ ionization enthalpy of Zn is higher than Cu.
Statement II: 2™ 1omzation enthalpy of Zn 1s lower than Cu.
Statement IT: 2™ tion enthalpy of Zn is lower than C

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I 1s correct but Statement II 15 incorrect
Statement I 1s incorrect but Statement II 1s correct

e Lo b =

Options:

1908894569. 1
1908894570. 2
1908894571. 3

1908894572. 4

Question Number : 118 Question Id : 1908891159 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
A gF Fua fGr AT §

FUT - 1: Zon FT TIF HTTqSGA T=dedT Cu ¥ I1ET Ehar g1
FUT - 11 : Zn FT AT FTaa7 =4l Cu & FH AT §
39YFT FUAT F A H faeataraa et # ¥ |9 3o I+

1. ®UT 13T D2 TEr &
FUT 13T 11 3AT 7199 &)

)

3. FUA 18T . fFeqg Fy7 N 9T €
4. FYF 1709 ¢, [Feg FIT LT E
Options:

19088945609. 1
1908894570. 2
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1908894571. 3

1908894572. 4

Question Number : 119 Question Id : 1908891160 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: Fluorine oxidises water to oxygen.
Statement II: Chlorine reacts with water to form hydrochloric acid.

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I 1s correct but Statement II 15 incorrect
Statement I 1s mncorrect but Statement II 1s correct

e Lo B

Options:

1908894573. 1
1908894574. 2
1908894575. 3
1908894576. 4

Question Number : 119 Question Id : 1908891160 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[ ]
gcollegedunlaa
India’s largest Student Review Platform

el



AT 3T FYST U AT

FUT - 1 FARIA I F HFESA & HAFEFT FT ¢

FIF - I1: FaARIA TAT T HATHAT FIF FTESSFAIH HFol &l ¢
3UFd FAAT F JAF F AeATNRT [ahedt A T FEN Ieal I

. FUA 13T 03T TE

FUT 1 AT L AT 79T B

Fu 188! ¢ fFeq Fua7 1797 €
4. FYT 170 . fFeq FUF L I

Options:

[R—

[

LaJ

1908894573. 1
1908894574. 2
1908894575. 3

1908894576. 4

Question Number : 120 Question Id : 1908891161 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following options related to sulphuric acid is incorrect?

1. Highly volatile

2. Strong acid

High atfimity for water
4. Oxidising agent

L)

Options:

1908894577. 1
1908894578. 2
1908894579. 3

1908894580. 4

Question Number : 120 Question Id : 1908891161 Question Type : MCQ Option Shuffling : No

[ ]
gcollegedunlaa
India’s largest Student Review Platform

el



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

famafof@a fFedt # ¥ Forgis 37 & for #iq &1 fFeT o 7 2

1. 3= Jreqefier

2. Ydol &l

3. 99 F AT SAer aeyan
4, HTFHFRH

Options:

1908894577. 1
1908894578. 2
1908894579. 3
1908894580. 4

Question Number : 121 Question Id : 1908891162 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Thermal decomposition of ammonium dichromate gives

Nj. Cry,O3 only

Ns. H,O. Cry,O3 only
Na. CrO; only

Na. H>O. CrOs only

| S

en Ao

Options:

1908894581. 1
1908894582. 2
1908894583. 3

1908894584. 4

Question Number : 121 Question Id : 1908891162 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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FATATA SEHAC F adNT 39geaT F FAoar & -

1. &ad Ny 3R CnO:
2. FFd N, H,0 3R 05
3. &ad N 3R CrO;
4. &adl N». H,0 3R Cr0;

Options:

1908894581. 1
1908894582. 2
1908894583. 3
1908894584. 4

Question Number : 122 Question Id : 1908891163 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: Limestone 1s added as a flux to oxidise Si and P 1n blast furnace for extraction of
1ron.

Statement II: The given reaction 1s a step in the extraction of iron occurs at high temperature
(900-1500K) 1n blast furnace.

3Fe,03 + CO w 2Fes04 + CO;

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect

3. Statement I 1s correct but Statement II 1s mcorrect
4. Statement I 1s incorrect but Statement I 15 correct

|

Options:
1908894585. 1
1908894586. 2

1908894587. 3
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1908894588. 4

Question Number : 122 Question Id : 1908891163 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A & Fu Rr aw §

FUA - 1. 7% & fasador & arear o) & Si 3R P F g A F v g
TR & M & § H 3 A1 ¢l

FUF - 11: & 715 FATFA e 7 7 ITT a9 (900-1500K) W HRRA & farsaor
# UF FeH B

3Fe;03 + CO w 2Fes04 + CO;
I FUA F 3ol A fArfaf@a fEedt & § 78 Ik g

. & 13 n3et wé &

YA 3R 134T T 8

. FYF 1TE . e FY 11770 B
4. FYF 19700 ¢ g FuT T £

[—

|

l'_\_N

Options:

1908894585. 1
1908894586. 2
1908894587. 3

1908894588. 4

Question Number : 123 Question Id : 1908891164 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Compound X' 1s a white crystalline solid of boron with soapy touch. X' 1s

Borox
Orthoboric acid
Boric oxide
Diborane

o =

. 0

Options:

1908894589. 1
1908894590. 2
1908894591. 3

1908894592. 4

Question Number : 123 Question Id : 1908891164 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AMAF X WG F T & WY AT 0 ahe fheeerd o gl Afw X
el

1. aNFq

. IR I
. A& s
4. STBARA

Options:

| B

L

1908894589. 1
1908894590. 2
1908894591. 3

1908894592. 4

Question Number : 124 Question Id : 1908891165 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Cement clinker 1s mixed with X % of gypsum by weight to form cement, X' 15

22-24%

15-16%
7-9%

= o b =

Options:

1908894593. 1
1908894594. 2
1908894595. 3

1908894596. 4

Question Number : 124 Question Id : 1908891165 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

W e #1399 F FJER X % oeww & gy e @ a9 S gl X
|

= Lo b2 —
]
(]
o
(=
(=4

Options:

1908894593. 1
1908894594. 2
1908894595. 3

1908894596. 4

Question Number : 125 Question Id : 1908891166 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements. one 1s labelled as Assertion A and the other 1s labelled as

Reason R

Assertion A: Lithium halides are generally covalent in nature,
Reason R: Lithium 1on has high polarization capability.

In light of the above statements, choose the most appropriate answer from the options given
below

Both A and R are correct and R 15 the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A 15 correct but R 15 not correct

A 1s not correct but R 1s correct

I

-l

Options:

1908894597. 1
1908894598. 2
1908894599. 3
1908894600. 4

Question Number : 125 Question Id : 1908891166 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A & FUA U 70§ 0F F 3fFYF (A) 3R g F FWOT (R) FFT I B

HHFU (4) : Ffdaw §omss aeaa: HEEdeE A & B &
FROT (R) : FAfT e v 3o §diaor &7 gl g
ITYFT FUA F Aol A foraiiehr Faedl # § T 3ok I

(A AR (R) G FE E AR (R). (A) F FEY SqTE

- (A) IR (R) 2T TET E Ted (R). (A) FT WEY AT T
. (A) W & Wed (R) WET e &

4. (A) Tl 7T & Weq (R) Tl &

—

| -

LS

Options:

1908894597. 1
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1908894598. 2
1908894599. 3

1908894600. 4

Question Number : 126 Question Id : 1908891167 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the following reactions:

catalyst/
heating

2H, (g) + O, (2) > 2H,0(): AH® =X

3H, (g) + N, (g) —o2K2002m g ONH; (g); AH® =Y

The values of X and Y are respectively

+ve and +ve
-ve and +ve
+ve and -ve
-ve and -ve

b

4 Lo

Options:

1908894601. 1
1908894602. 2
1908894603. 3

1908894604. 4

Question Number : 126 Question Id : 1908891167 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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IGLaICICCREIEIE T IE e g

catalyst
heating

2H, (g) + O, (g) » 2H,0(); AH® =X

3H, () + Np () —fo 2  2NH; (g); AH® =Y

X3 Y& AT FAT: B

1. UATCHS AN UATcHS
FOMcHS 3 UATcHS
3. UATcHS 3R HUMcAS
4. FHUMcHAF 3 FHOMHS

[ ]

Options:

1908894601. 1
1908894602. 2
1908894603. 3

1908894604. 4

Question Number : 127 Question Id : 1908891168 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Pb;O; + SHCI g 3PbCl, + Cl, + 4H,0

In the given reaction. oxidant (O) and reductant (R) are respectively

O=PbO.R=CI
O =Pb0O,. R=PbO

| B

3. O=Pb0O,R=Pb0O,
4. O=PbO..R=CI
Options:

1908894605. 1
1908894606. 2
1908894607. 3
1908894608. 4
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Question Number : 127 Question Id : 1908891168 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Pb;O, + 8HCI = 3PbCl, + Cl, + 4H,0

ar 18 HIATRAT 7 FFdPRS (0) IR FIIISF (R) FAA: &

1. O=PbO.R=CI

2. O=Pb0O,:.R=PbO

3. O=Pb0O. R =Pb0O;

4. O=PbO2.R=CI
Options:

1908894605. 1
1908894606. 2
1908894607. 3

1908894608. 4

Question Number : 128 Question Id : 1908891169 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements
Statement I: The lattice enthalpy of NaCl (g) 15 788 kJ mol”.

Statement II: 788 kJ of energy 1s required to separate one mole of gaseous NaCl into one mole
of Na" (g) and 1 mole of CI (g).

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I 1s correct but Statement I 1s incorrect
Statement I 1s incorrect but Statement II 1s correct

e o b =

Options:

19088946009. 1
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1908894610. 2
1908894611. 3

1908894612. 4

Question Number : 128 Question Id : 1908891169 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AT Ry T AT E !
FUT - 1: NaCl (g) FF 1o T4 788 kI mol™ £

FIF - [1: TF Al FHT NaClF. TF AT Na'(g) HT TF &S Cl (o) F HoT A +
forT 788 k1 Fa  HTFITFAT 2 7

I9YFA FUA F el # riofla fewedr # ¥ 78 3o 9

- FYF 1R DEE wE 8

. FYF 1A 03 700 £

. FUF 1HEI ¢ e FUT N0 £
4. FY 1770 8. g Fo 1 H £

[u—

|

[ %

Options:

1908894609. 1
1908894610. 2
1908894611. 3
1908894612. 4

Question Number : 129 Question Id : 1908891170 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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In Mendeleev’s periodic table. number of series and groups are X and Y. respectively. X and Y
are

b
v

Il
p—t
!4
et

|
o

o oo

[ 1 k 3
) -

Il

P

-2

et

|

[ a]

Options:

1908894613. 1
1908894614. 2
1908894615. 3

1908894616. 4

Question Number : 129 Question Id : 1908891170 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

HZoNIT T AT FRON & 9ar AT Fo 7 FEIT FAT: X AT YE X AT YV E

o —
b H
Il

= o
e
Il
| E
et
Il
oD

Options:

1908894613. 1
1908894614. 2
1908894615. 3
1908894616. 4

Question Number : 130 Question Id : 1908891171 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements

Statement I: Robert Bunsen used line spectra to identify elements.

Statement II: The emission spectra of atom in the gas phase do not show a continuous spread of
wavelength.

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I 15 correct but Statement II 1< incorrect
Statement I 1s incorrect but Statement II 15 correct

TI;..'l_.a..ll,...lll—ll

Options:

1908894617. 1
1908894618. 2
1908894619. 3

1908894620. 4

Question Number : 130 Question Id : 1908891171 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
A 3 FuF R aw §

FIF - 1. T9¢ 704 & dcal I TFIA § o0 Wiy v 1 393

FY - 11: 7 FTEAT & TAVH FT 3cHid F9H qOCE # [l THR F A¢T
o B

S FUR & Ao A B Rt 2 & W e

. FYF AT L T £

. FYF AR 134t 79 £

. FYF 178 . e FU 17T £
4. FYF 1770 £, fFeq FuT 1 £

Options:

fe—

-2

L

1908894617. 1
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1908894618. 2
1908894619. 3

1908894620. 4

Question Number : 131 Question Id : 1908891172 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following statements 1s not correct?

1. Dmnitrogen s rather mert at room temperature because of the high bond enthalpy of N=N

bond. ‘

Optimum conditions for the production of ammonia are a pressure of 200 x 10° Pa. a

temperature of ~700 K and the use of a catalyst.

3. Ditrogen directly combines with some metals to form predominantly covalent nitrides.

4. Interstitial compounds are usually non-storchiometric and neither typically 1onic nor
covalent,

[ S

Options:

1908894621. 1
1908894622. 2
1908894623. 3
1908894624. 4

Question Number : 131 Question Id : 1908891172 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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T Ay T T FT T T 0

1. N=N HeY &1 3T9 ey I $f a8 & SeaAscod $ & a9 |

R g 8

AT & 3 & T 8ead . 200 x 10° Pa g9 ~700 K A9 3R 3RS

FT 339G ¢

3. SRABES O UIG3T & FY WY FYFT G AT T § Tgwdon
ATSeTSE gl 2

4, Featanel AE el W ameREIRRtF g R ad mak w
IrafAs AR 7 & TEEdeS & £

Options:

|

1908894621. 1
1908894622. 2
1908894623. 3
1908894624. 4

Question Number : 132 Question Id : 1908891173 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match the method 1 List I with the reaction 1 List II

List I List II
350K 470K
A. Clark’s method Ni +4CO »  Ni(CO), w N +4C0
L
B. Calgon’s method II. Mg(HCO3), + 2 Ca(OH); - 2 CaCOs| + Mg(OH); | + 2H,0

C. Castner-Kellner's method [IIl. Ca** + Na,PsO,s> 2 [Na,CaP¢O* +2 Na*

D. Mond's method

IV.

Anode : CI” - %Cli ‘e

;Cathode: Na' + e"—=—Na - amalgam

Choose the correct answer from the options given below:

1. A-IL B-IIL C-IV. D-I
2. AL B-IV.C-I. D-III
3. A-IIL B-II. C-IV, D-1
4. AL B-L C-IV. D-II

Options:

1908894625. 1
1908894626. 2
1908894627. 3
1908894628. 4

Question Number : 132 Question Id : 1908891173 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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o 13 & S R B g 1 AT @ e Wt

LSS SR CR
A. FITH 350K 470K
e [ Ni +4CO » Ni(CO)y —»» N1 +4CO
B. FTldTA
| I1. Mg(HCO3); + 2 Ca(OH), = 2 CaCO;| + Mg(OH), | + 2H,0
fafer
C. FTEEAT
Folell III. Ca®* + NasPsOs” > [NaxCaPgOsg]” +2 Na®
fafer
D AT ;Calhode: Na® + e-——=— Na - amalgam
fafer Anode : CI —rlCig +e
IV. 2

A faw o fAsedt # @ W@l 3eaX gMU ¢

1. A-IL B-III. C-IV. D-I

2. A-IL B-IV, C-1. D-II

3. A-IIL B-IL. C-IV. D-I

4. A-III B-L C-IV. D-II

Options:

1908894625. 1

1908894626. 2

1908894627. 3

1908894628. 4

Question Number : 133 Question Id : 1908891174 Question Type : MCQ Option Shuffling : No

Is Questi

on Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements
Statement I: Silicones are surrounded by non-polar alkyl groups. thus water repelling in nature.

Statement II: The starting materials for the manufacturing of silicones are alkyl or aryl
substituted silicon chlorides.

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I 1s correct but Statement II 1s mncorrect
Statement I 1s incorrect but Statement II 15 correct

b

-l

Options:

1908894629. 1
1908894630. 2
1908894631. 3
1908894632. 4

Question Number : 133 Question Id : 1908891174 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AT A FYT T AT E !

FUF - 1. 3y Ofoda Tagt @ Y gl & Fror et i sewfasdt g5ia
g &

I - 11 Rfowa & A & grieEss g2 ofesa suar e siowamd it
FONTSS 3 £l

39T FUA F HF & AT [hest & ¥ T 3ol I

 FUF 13T 13 TR
. FYF 13T 13 9T E

. FYF 178 ¢ fFeg Fua 1793 £
4, FYF 1994 ¢ e Fu7 1T 2

—

| &

L %]

Options:
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1908894629. 1
1908894630. 2
1908894631. 3

1908894632. 4

Question Number : 134 Question Id : 1908891175 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one 1s labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A: [Ti(Hy0)s]Cls on heating. removes water molecule and becomes colorless,

Reason R: In the absence of ligand. crystal field splitting does not occur and hence the substance
15 colorless.

In light of the above statements, choose the most appropriate answer from the options given
below

Both A and R are correct and R 1s the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A 15 correct but R 15 not correct

A 15 not correct but R 1s correct

..__J o—

e L

Options:

1908894633. 1
1908894634. 2
1908894635. 3
1908894636. 4

Question Number : 134 Question Id : 1908891175 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A 31 Fua BT 0§ : UF F HEFUT (A) X T F FROT (R) FET A 2

HAFAF (A) : [TiH0)6]CL T TS T TR F H0 F FFey T 2
gl

FRT (R) : foers 1 sreqefeuls & frmeer &7 R & @ar ¢ 3k swfow w2y
TR &S 2

ST FUAT ¥ A A e e A ¥ W 5 9

1. (A)#T (R)Z FE & A (R). (A) FT FEr AT £

2. (A) 3R (R)3ET TE § g (R). (A) T T e 7 ¢
3. (A) Wl § Weq (R) W LT

4. (A)FE T € g (R) T 2

Options:

1908894633. 1
1908894634. 2
1908894635. 3
1908894636. 4

Question Number : 135 Question Id : 1908891176 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: A molar property (ym) 15 the value of an extensive property (¥) of the system for 01
mol of the substance.

Statement II: If n is the amount matter. y, = ¥ /m 1s independent of the amount of matter.
In light of the above statements. choose the correct answer from the options given below
. Both Statement I and Statement II are true
. Both Statement I and Statement II are false

1
;}
3. Statement I 1s true but Statement II 1s false
4. Statement I 1s false but Statement II 1s true

Options:
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1908894637. 1
1908894638. 2
1908894639. 3

1908894640. 4

Question Number : 135 Question Id : 1908891176 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A Fya RU AT §

FUF - 1: AR 0 (1) T F 0% A F v FFw i oF aws 9o () #
T3 gl

W-H:Eﬁ,‘ﬁﬁ'ﬂﬁ?nﬁ.ﬁm=g-nmﬁm3m?|
3TYFA FUAT F HAF H Aeafared foFmed # ¥ w3 I

| FUF 13T 023 T E
2. FYF 1A 1A T T £
3. YT 188 £ fheq FYa 17700 €
4. FUT 177004 ¢, e FUT LT

Options:

1908894637. 1
1908894638. 2
1908894639. 3

1908894640. 4

Question Number : 136 Question Id : 1908891177 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements. one 1s labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A: Carbon dioxide gas above 1ts critical temperature 1s called carbon dioxide vapor.

Reason R: A gas below the critical temperature can be liquefied by applying pressure.

In light of the above statements, choose the most appropriate answer from the options given
below

Both A and R are correct and R 15 the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A 1s correct but R 15 not correct

A 1s not correct but R 15 correct

| S

= o

Options:

1908894641. 1
1908894642. 2
1908894643. 3

1908894644. 4

Question Number : 136 Question Id : 1908891177 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A 3 Fua BT a0 € vF 1 AU (A) #R SHY F FROT (R) FET AT £

#AFYT (A): FiaF TIHH § FR Fod TRHFARE 3T F Fad TBHFAEE
T FEa &

FIOT (R) : Fifa® a9A & A= § &9 F1 a7 9w e &Far a1 w6 2

I FIA F HAF # wing Gew # ¥ W oW I

1. (A) 3R (R)ET T & 3 (R). (A) T TEY TrEw £
2. ()R ()T TN § W] (R). (A) FT TG e 7 £
3. (A)TE § Weq (R) TEr 8 8

4. (A) WG & § Teq (R) T £

Options:

-
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1908894641. 1
1908894642. 2
1908894643. 3

1908894644. 4

Question Number : 137 Question Id : 1908891178 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The Greek word k (kappa) 1s the representative symbol for:

Resistivity

Molar Conductivity
Equivalent Conductivity
Conductivity

o

=

Options:

1908894645. 1
1908894646. 2
1908894647. 3
1908894648. 4

Question Number : 137 Question Id : 1908891178 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

M oreg « (F1AN) _ FIAF A §

1. Sfarshar
. AT ATelehdT
4. =Telehdrl

[ B

g

Options:
1908894645. 1

1908894646. 2
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1908894647. 3

1908894648. 4

Question Number : 138 Question Id : 1908891179 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following reactions does not form sols?

Double deconmpoasston

1. As:03+ 3H>S == As)S3+ 3H,0
Credation
2. 250+ 04 e
Onsdation _—
3. SO+ 2H,S 38 + 2HH0
Hydrohy'sis
4. FeCls + 3H>0 = Fe(OH); + 3Hy(Cl
Options:

1908894649. 1
1908894650. 2
1908894651. 3
1908894652. 4

Question Number : 138 Question Id : 1908891179 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
A=fef@a & @ 9 @ 3RFIT IS FET F9dATE 2

Den e decoirpositnn

1. AsyO3+ 3H>S = As)S3 +3H,0

Chedation —
2SO, + Oy 2503
. | Oxdation -
SO, + 2H,S 3S + 2H,0
Hydroly'sis

4. FeCls+ 3H)0 = Fe(OH); + 3H)Cl

2

LW

Options:
1908894649. 1
1908894650. 2
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1908894651. 3

1908894652. 4

Question Number : 139 Question Id : 1908891180 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The half-life for first order decomposition of compound ‘X’ 1s 126 minutes, then how many
hours are required for 90% decomposition of *X'?

6.97
69.7
418
41.8

e Lo b =

Options:

1908894653. 1
1908894654. 2
1908894655. 3

1908894656. 4

Question Number : 139 Question Id : 1908891180 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

YF X' & YA A JEed i 3¢ I 126 Aee §. 38 90 % Houfed g A
fRdeT HUeT SR °

6.97
69.7
418
41.8

ol

Options:

1908894653. 1
1908894654. 2
1908894655. 3

1908894656. 4
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Question Number : 140 Question Id : 1908891181 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Out of the given equations, which can be used to explain the temperature dependence of the rate
of a chemical reaction?

1. Tn(k'A)=-E,R
2. BT ln‘llil =-E,
L

3. Rln(k’'A)=-E,T

4, Ealn{k :31} e 'RT
Options:
1908894657. 1
1908894658. 2
1908894659. 3

1908894660. 4

Question Number : 140 Question Id : 1908891181 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

RT 71T gEEOT # . e 39 tafas ARRRr R afy & aae SeRa

F A & ov T o gwar
l. Tln(k’'A)=-E,R
). RThn|=|--E,
(A )
3. Rln(k’/A)=-E,.T
4. Eiln(k'A)=-RT
Options:

1908894657. 1
1908894658. 2
1908894659. 3
1908894660. 4
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Question Number : 141 Question Id : 1908891182 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For the dilute solutions. the elevation of boiling point (ATy) 1s directly proportional to the molal
concentration (m) of the solute in a solution,

ATyam
or. ATy=kym
where ky 15:

1. Freezing point depression constant
2. Molal depression constant

3. Cryoscopic constant

4. Ebullioscopic constant

Options:

1908894661. 1
1908894662. 2
1908894663. 3
1908894664. 4

Question Number : 141 Question Id : 1908891182 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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a9 o # F9UAF F Ie3 (ATy) oo & 39ftys g & s wgar &
HATATAT 2 €

ATyom

q ATy=kym

@k, £l

J—

. Ao ¥9ARA B
. FETERITE RuTE
4. UegforarERITS R

Options:

| B

LN

1908894661. 1
1908894662. 2
1908894663. 3
1908894664. 4

Question Number : 142 Question Id : 1908891183 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following double bond has highest enthalpy in kJ at 298K?

|

I
CQznM0O0

IV
%00
Il

o)

Options:

1908894665. 1
1908894666. 2
1908894667. 3

1908894668. 4
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Question Number : 142 Question Id : 1908891183 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fra &7 ¥ T ar frw gfaay & o=des W H 208 K a9 X Hfwam & 0

O

C
=N

O

o
o'z NN
|

Options:

1908894665. 1
1908894666. 2
1908894667. 3

1908894668. 4

Question Number : 143 Question Id : 1908891184 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If six atoms of equal size are placed at six faces of simple primitive cube without distorting the
lattice. what would be the packing fraction of the modified lattice?

0.74
0.63
0.54
0.48

= o b e

Options:

1908894669. 1
1908894670. 2
1908894671. 3

1908894672. 4

Question Number : 143 Question Id : 1908891184 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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¢ FAR HFR & OF WA F el FI 0Fd FU faar & 3167 o7 F oF
Gorhl T TET ST €. A BT el Fr Tt &A1 F4T1 29

0.74
0.63
0.54
0.48

e oo b

Options:

1908894669. 1
1908894670. 2
1908894671. 3

1908894672. 4

Question Number : 144 Question Id : 1908891185 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

List I List IT
.Cl'}'ﬁtﬂl system |Examples
A. Cubic 1. KNO;

B. Tetragonal

II. Na>S0O4.10H,O

C. Orthorhombic

ITI. Zinc blende

D. Monoclinic

IV. T10;

Choose the correct answer from the options given below:

1. A-IV. B-I, C-II. D-III
2. A-IL. B-IIl. C-IV. D-II
3. A-IL B-1. C-IV, D-II
4. A-IL B-IV. C-1. D-II

Options:

1908894673. 1
1908894674. 2
1908894675. 3
1908894676. 4

-
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Question Number : 144 Question Id : 1908891185 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T -IFEET -1 § gATOET RIS

-1 -1
EZGEGE] 3GIgYoT
A TAT I. KNO;
B. ZETHHaTeT 11 NaySO4.10H,0
C. fraseraer 1. 5- =T
D. Uhadret IV. TiO»
A9 foT o fATFedt # ¥ WEF Sea IMAT
1. A-IV,B-I C-IL D-III
2. A-L B-IIL C-IV, D-II
3. A-IIL B-L C-IV. D-II
4. A-IIL B-IV. C-L D-II

Options:

1908894673. 1
1908894674. 2
1908894675. 3

1908894676. 4

Question Number : 145 Question Id : 1908891186 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List I with List II

List I List I
;T}'pes of Solutions |\Common Examples
A. Gas in Gas I. Solution of hydrogen in palladium

B. Solid in Gas

I1. Mixture of oxygen and nitrogen gas

C. Gas in Liquid

ITI. Camphor 1n nitrogen gas

D. Gas in Solid

IV. Oxygen dissolved in water

Choose the correct answer from the options given below:

e W g

Options:

1908894677. 1
1908894678. 2
1908894679. 3
1908894680. 4

A-II. B-III. C-IV, D-1I
A-Il B-1. C-IV. D-III
A-II. B-IV. C-III. D-1
A-II. B-IV. C-1. D-III

Question Number : 145 Question Id : 1908891186 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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T I - gATaa ffsT

T -1 T 11

et & YR W e

AdEF AT 1. FTESIS &1 Seiean & Foaa
B.3W ¥ 3 I1. {FESa AT AEeraa 39 F1 FJeyor
CFTHIN Il F9T F AEL=A IH A

D.3W H 31F 'I\f.m#qﬁrgm

A= T av fFedr # ¥ w8 3ea/ g

:-I-'-b-LMIJI—l

Options:

1908894677. 1
1908894678. 2
1908894679. 3

1908894680. 4

A-II. B-III. C-IV, D-I
A-II. B-1. C-IV, D-III
A-II. B-IV. C-III. D-I
A-II. B-IV. C-I. D-III

Question Number : 146 Question Id : 1908891187 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List I with List II

List I

List II

A.AG >0 [LK<1

B.AG®=0[IIL.K=1

C.AGP<0 IILK>1

Choose the correct answer from the options given below:

1
2.

3.
4

A-L B-II. C-III
A-IL. B-I. C-III
A-L B-III. C-II
A-II. B-III. C-I

Options:

1908894681. 1

1908894682. 2

1908894683. 3

1908894684. 4

Question Number : 146 Question Id : 1908891187 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

=T -IF S -1 § gAfOT FifST

-

T -1

A.AG®°>0LK<1

B. AG?

=0jL.K=1

C. AG®

<0 |III. K>1

A fIT aT faedt 7 ¥ W 3ecR gfAv

Ja Lo b -

A-IL B-II. C-III
A-II. B-1. C-III
A-L B-III, C-II
A-II. B-III. C-I

Options:

1908894681. 1

-
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1908894682. 2
1908894683. 3

1908894684. 4

Question Number : 147 Question Id : 1908891188 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: The mass of a gas dissolved 1n a given mass of a solvent at any temperature 1s
proportional to the pressure of the gas above the solvent.

Statement II: The rate of dissolution of sugar 1s equals to rate of crystallization of sugar at
equilibrium.

In light of the above statements, choose the correct answer from the options given below

1. Both Statement I and Statement II are true

2. Both Statement I and Statement II are false
3. Statement I 1s true but Statement II 15 false
4. Statement I 1s false but Statement II 1s true

Options:

1908894685. 1
1908894686. 2
1908894687. 3

1908894688. 4

Question Number : 147 Question Id : 1908891188 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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AT AFYF RT AT E

FU - 1 ol off ao e el e & fev a0 gegmm & OO AW 1 geame
Re® & W 3 F 7919 & THEAIE 2T £

FYA - 11 FFAEES PR F ol $T A PR & Freeintor & afd F aa
g £

ST T ¥ A R e & ¥ T e

| ®97 3R 12+ & ¥
2. FUF [HT 12 79T £

3. FYF [FEE. e FYF 070 8

4 FUT Iamd‘s*.?'&wq FI [T &

Options:

1908894685. 1
1908894686. 2
1908894687. 3

1908894688. 4

Question Number : 148 Question Id : 1908891189 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following has least conductivity at 298 K?

Glass

Tetlon
Cupric oxide
Pure water

b

ot

Options:

1908894689. 1
1908894690. 2
1908894691. 3
1908894692. 4
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Question Number : 148 Question Id : 1908891189 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
208 K A9 X faeatoi@d # ¥ oFEehr Irashar §a8 F7 § 7

el

1. i
. FAIA
. T+ HTFHES

4. AL S

| )

L

Options:

1908894689. 1
1908894690. 2
1908894691. 3

1908894692. 4

Question Number : 149 Question Id : 1908891190 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
An aqueous solution with 37.92% of weight of NayS;0s. what 1s the mole fraction of Nay$;03?

(Total weight of solution = 1250 ¢)

1. 0.051
2. 0510
3. 0.065
4. 0.65

Options:

1908894693. 1
1908894694. 2
1908894695. 3
1908894696. 4

Question Number : 149 Question Id : 1908891190 Question Type : MCQ Option Shuffling : No
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Correct Marks : 4 Wrong Marks : 1
U g [Iorda & NayS,0; 7 37.92% 8T . [S09a # NayS,0; FT AT 3T FI7 g

(feraet 7 Fo 87 = 1250 ¢)
1. 0.051

0.510
0.065
0.65

e Lo B

Options:

1908894693. 1
1908894694. 2
1908894695. 3

1908894696. 4

Question Number : 150 Question Id : 1908891191 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The radius of spheres constituting fee, bee, and simple cubie lattice n terms of edge length (a) of
the unit cells, are respectively

0.35a.0.43a. 0.5a
0.5a. 0.43a. 0.35a
2.8a, 2.31a, 2a
2a, 2.31a, 2.8a

ol

-

Options:

1908894697. 1
1908894698. 2
1908894699. 3
1908894700. 4

Question Number : 150 Question Id : 1908891191 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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WW*W#W(a)*Wﬁfcc.bccmmmﬂm
mﬁﬂ'ﬁmmfg

0.35a.0.43a, 0.5a
0.5a.0.43a, 0.35a
2.8a, 2.31a, 2a
24,2313 283

R

Options:

1908894697. 1
1908894698. 2
1908894699. 3

1908894700. 4
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